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4001 (B R 2 ER]
4002 TR— B 10 13 99 | 2091 420/80=53 1/5.3=0.19A
3 it A () g 0% | BERS 0.190] 11.200| 1.000 78kW < 0.1440/kW/h=11.23%11.20
4003 TR— B 10 13 99 | 2092 420/80=53 1/5.3=0.19A
3 it o a1 e mne 05% | BSRS 0.190| 11.200] 1.000 78kW < 0.1440/kW/h=11.23%11.20
4004 TR— B 10 13 99 | 2093 420/80=53 1/5.3=0.19A
3 |15t AR (R m) wg 0% | BERS 0.190| 14.400| 1.000 100kWx0.1440/kW/h=14.4=14.40
4005 TR— B 10 13 99 | 2004 420/80=53 1/5.3=0.19A
3 |ist sy onxaem) mm 25w | RER 0.190| 14.400[ 1.000 100kWx0.1440/kW/h=144=14.40
4006 TLR—H B 10 13 99 | 2095 750/120=6.3 1/6.3=0.16.1
3 |2t rmmasmon e mmox | B5RI | 0160 21.900|  1.000 152kWx0.1440/kW/h=21.89=21.9¢
4007 TR—H B 10 13 99 | 2096 750/120=6.3 1/6.3=0.16. A
3 o s aem mmosy | BRI | 0160 21.900|  1.000 152kWx0.1440/kW/h=21.89=21.9¢
4008 TR— B 10 13 99 | 2098 770/120=64 1/64=0.16 A
3 |iews vorsmarmmrssnosaen, | BRI | 0160 18.700|  1.000 130kWx0.1440/kW/h=18.72=18.7¢
4009 | s1-0-1.50)| T LR— B RE 10 13 99 | 2097 EEEE
3 [t IHHANER(EIAEEE)) | B 1.000] 25.000| 1560
4010 IR R AR 10 13 99 | 2120 HO—5% 690/110=6.3 1/6.3=0.16 A
3 LIFO. 28 TARO. )T Bt AT ST (55 1 MM AE) |+ 0% i ] 0.160 5.900 1.000 41kWx0.1440/kW /h=5.90=5.900
4011 IR TR AR 1.0 13 99 | 2121 O—S% 690/110=63 1/6.3=0.16 A
3 |umossiemomimus o sse oo | BRI | 0160 5.900|  1.000 ATkWx0.1440/kW/h=5.90%5.90¢
4012 IR TR AR 10 13 99 | 2122 HO—5% 690/110=6.3 1/6.3=0.16 A
3 |umossiemomimussnonssm s | B5RI | 0160 5.900|  1.000 ATkWx0.1440/kW/h=5.90%5.90¢
4014 IR R AR 10 13 99 | 2422 HO—5% 690/110=63 1/6.3=0.16 A
3 LI 45m(TRR0.35m) T Bt AR R (B KAL) I+ 0% FEF 0.160 8.600 1.000 60kW X 0.1440/kW/h=8.64=8.60
4015 IR TR AR 10 13 99 | 3488 HO—5% 690/110=63 1/6.3=0.16 A
3 LU0 45T RRO.36m) HEH AR B (51 RIEEEAE) 1 +10% FEF 0.160 8.600 1.000 60kW X 0.1440/kW/h=8.64=8.60
4016 IR 10 13 99 | 3489 HO—5% 690/110=63 1/6.3=0.16 A
3 VLU0, 45 SEARO.36m) 1 A S50 (35 1 RALAAH) | +25% e ] 0.160 8.600 1.000 B60kW x0.1440/kW/h=8.64=8.60
4018 IR TR AR 1.0 13 99 | 2129 O—S% 690/110=63 1/6.3=0.16.A
3 |umomimmosrmurasmnomisanw .o | BSRI | 0160 10.700|  1.000 74kW < 0.1440/kW/h=10.66=10.7¢0
4019 IR 10 13 99 | 2130 HO—5% 690/110=63 1/6.3=0.16 A
3 |umomimmosrmurasmnomisesw o | BSRI | 0160 10.700|  1.000 74kW < 0.1440/kW/h=10.66=10.7¢0
4020 IR TR AR 10 13 99 | 2131 HO—5% 690/110=63 1/6.3=0.16 A
3 |umommmosrmurasmnomisenw s | BSRI | 0160 10.700|  1.000 74kW < 0.1440/kW/h=10.66=10.7¢0
4022 IR R AR 10 13 99 | 2416 HO—5% 690/110=63 1/6.3=0.16 A
3 |umosmrmosrmusasmonisenw .o | BSRI | 0160 15.000|  1.000 104kWx0.1440/kW/h=14.97+15.00
4023 IR R AR 10 13 99 | 2952 HO—5% 690/110=63 1/6.3=0.16 A
3 IO SO 6 s At o 1 et 1 10% | IR 0.160] 15.000 1.000 104kW x 0.1440/kW/h=14.97=15.00
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4024 Ny B AR 1.0 13 99 2950 0—5% 690/110=6.3 1/6.3=0.16.A

3 |umosmmmosrmurasmnonisnw s | BSRI | 0160 15.000|  1.000 104kWx0.1440/kW/h=14.97=15.00
4026 NS B AR 10 13 99 2135 £0—5% 690/110=6.3 1/6.3=0.16.A

3 |umiomemomisusassomssw .o | BSRI | 0160 16.700|  1.000 116kWx0.1440/kW/h=16.70=16.7¢
4027 NS B AR 10 13 99 2136 £0—5% 690/110=6.3 1/6.3=0.16.A

3 |umiommmo misusassnomssw o | BSRI | 0.160| 16.700|  1.000 116kWx0.1440/kW/h=16.70=16.7¢
4029 Nk BEEE(0-58L-20t8) | 1.0 13 99 2415 HO—S5MsL—> 690/110=6.3 1/6.3=0.16

3 LIFO.45m(TRO.35m) [ HE i R T (35 1 RELHE(E) | FEF 0.160 8.600 1.000 A60kW x0.1440/kW/h=8.64=8.60
4030 011-4 |\ IR BERRE (hv- VR 1.0 13 99 2901 RA—ILE 620/110=5.6 1/56=0.18 A

3 |umossmmossirpunmmonsanw, | BsB | 0.180) 12700] 1.000 BBW > 0.1440/kW/h=T267= 1270
4031 NI RIBELIR B 1.0 13 99 2902 sO—ZEHL—> 690/110=6.3 1/6.3=0.16.A

3 |umoswmmosm noounrpussse s, | B 0.160| 15.000] 1.000 104kW>x0.1440/kW/h=14.98=15.00
4032 R — I O— B IR T 10 13 99 2903 520/110=4.7 1/47=021 A

3 WIR0.9-1.0mir sty A3 S (5 1 sty | | RS 0210 7.900] 1.000 55kW < 0.1440/kW/h=7.92=7.90
4033 R — I O— B IR T 10 13 99 2158 520/110=4.7 1/47=021 A

3 |wmi gy assn s rmem) ) | KR 0210|8900 1.000 62kW = 0.1440/kW/h=8.93=8.90
4034 R — I O— B IR T 10 13 99 2159 520/110=4.7 1/47=021 A

3 W1 3- 1.4t e RS S (3 ey | | RS 0.210] 9.100] 1.000 63kW = 0.1440/kW/h=9.07=9.10
4035 R — I O— B IR T 10 13 99 2161 520/110=4.7 1/47=021A

3 |wmns 1w asiEn s xEem ) | R 0.210| 11.700[ 1.000 81kWx0.1440/kW/h=11.66=11.7¢
4036 R — I O— B IR T 10 13 99 2163 520/110=4.7 1/47=021A

3 |wmio2 sy s e xaem ) | R 0210 13.100] 1.000 91kWx0.1440/kW/h=13.10=13.10
4038 B INSy B R 10 14 99 2904 | 2914 830/140=59 1/59=017A

4 |BEmEE201EET RS 0.170| 3500] 1.000| 1.000 88kW X 0.0400/kW/h=3.523.50
4039 B INTy B R 10 14 99 2904 | 2915 830/140=59 1/59=017A

4 |BEEE20tEE S 0.170| 3500] 1.000| 1.000 88kWx0.0400/kW/h=3.52=3.50
4040 B INTy B R 10 14 99 2904 | 2916 830/140=59 1/59=017A

4 |BHEE20tFE B 0170 3500 1.000] 1.000 88kW x0.0400/kW/h=352%3.50
4042 BTNy B R 10 14 99 2905 | 2914 830/140=59 1/59=017A

4 |E#EB2.0tR1F(25%) e 0.170| 3500 1.000] 1.000 88KW > 0.0400/kW/h=3.52=3.50
4043 BTNy B R 1.0 14 99 2905 | 2915 830/140=59 1/59=017A

4 |EEEE.0t55E(+25%) B 0170/ 3500/ 1.000| 1.000 88KkW < 0.0400/kW/h=3523.50
4044 BTNy B R 10 14 99 2905 | 2916 830/140=59 1/59=017A

4 |EEEE2.0tRE(+25%) B 0170/ 3500/ 1.000{ 1.000 88kW x0.0400/kW/h=3523.50
4046 BTNy B R 10 14 99 2906 | 2917 830/140=59 1/59=017A

4 |BEmESLIOIEET RS 0.170| 5400| 1.000| 1.000 135k W% 0.0400/kW/h=5.40
4047 BTNy B R 10 14 99 2906 | 2918 830/140=59 1/59=017A

4 |HEESI0LE RS 0.170| 5400| 1.000| 1.000 135k W% 0.0400/kW/h=5.40
4048 BTNy B R 10 14 99 2906 | 2919 830/140=59 1/59=017A

4 |MBEBIOTE e 0.170] 5400 1.000] 1.000 135kW < 0.0400/kW/h=5.40
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4050 HUTNS o BEGIRE 1.0 14 99 2907 | 2917 830/140=5.9 1/5.9=0.17.A

4 |EEEB40tEIF(25%) B 0170 5400/ 1.000{ 1.000 135kW x0.0400/kW/h=5.40
4051 HUTNS o BERIRE 1.0 14 99 2907 | 2918 830/140=5.9 1/5.9=0.17A

4 | EEEBA0EE(+25%) B 0170 5400/ 1.000| 1.000 135kW x0.0400/kW/h=5.40
4052 HUTNS o BERIRE 1.0 14 99 2907 | 2919 830/140=5.9 1/5.9=0.17.A

4 |EEEE40URE(+25%) B 0170 5400/ 1.000| 1.000 135kW x0.0400/kW/h=5.40
4054 HUTNS o BERIRE 1.0 14 99 2908 | 2920 830/140=5.9 1/5.9=0.17A

4 |mmEEe-TtEiT S 0.170| 6.600] 1.000| 1.000 165kW x0.0400/kW/h=6.60
4055 HUTNS o BERIRE 1.0 14 99 2908 | 2921 830/140=5.9 1/5.9=0.17A

4 |mEEE6 1A e 0.170| 6.600] 1.000| 1.000 165kW x 0.0400/kW/h=6.60
4056 HUTNS o BGRIRE 1.0 14 99 2908 | 2922 830/140=5.9 1/5.9=0.17.A

4 |BREE6-TIFRE B 0.170| 6600/ 1.000] 1.000 165kW x0.0400/kW/h=6.60
4058 HUTNS o BEGRIRE 1.0 14 99 2909 | 2920 830/140=5.9 1/5.9=0.17A

4 |EEEE6-TtEIF(+25%) B R 0.170| 6600/ 1.000] 1.000 165kW x0.0400/kW/h=6.60
4059 HUTNS o BERIRE 1.0 14 99 2909 | 2921 830/140=5.9 1/5.9=0.17A

4 |EEEE6-THEE(+25%) B R 0.170| 6600/ 1.000] 1.000 165kW x0.0400/kW/h=6.60
4060 HUTNS o BEGRIRE 1.0 14 99 2909 | 2922 830/140=5.9 1/5.9=0.17A

4 |EEEE6-TIRE(+25% B R 0.170| 6600/ 1.000] 1.000 165kW x0.0400/kW/h=6.60
4062 HUTNS o BERIRE 1.0 14 99 2910 | 2923 830/140=5.9 1/5.9=0.17.A

4 |mEEEs ORIy e 0.170] 7.200] 1.000| 1.000 179kW < 0.0400/kW/h=7.16=7.20
4063 HUTNS o BGRIRE 1.0 14 99 2910 | 2924 830/140=5.9 1/5.9=0.17.A

4 |HEEE80HLE RS 0.170] 7.200 1.000| 1.000 179kWx0.0400/kW/h=7.16=7.20
4064 HUTNS BRI 1.0 14 99 2910 | 2925 830/140=5.9 1/5.9=0.17.A

4 |BHEE80tTRE B 0.170| 7.200] 1.000] 1.000 179kWx0.0400/kW/h=7.16=7.20
4066 HUTNS o BERIRE 1.0 14 99 2911 | 2923 830/140=5.9 1/59=0.17.A

4 |EEEES.0tEIF(+25%) B 0170/ 7.200| 1.000{ 1.000 179kWx0.0400/kW/h=7.16=7.20
4067 HUTNS o BERIRE 1.0 14 99 2911 | 2924 830/140=5.9 1/5.9=0.17A

4 |EEEES.0tEE(+25%) B 0170 7.200| 1.000{ 1.000 179kWx0.0400/kW/h=7.16=7.20
4068 HUTNS o BERIRE 1.0 14 99 2911 | 2925 830/140=5.9 1/59=0.17.A

4 |E#EBSOIRE(+25%) e 0.170| 7.200] 1.000| 1.000 179kW x 0.0400/kW/h=7.16=7.20
4070 BTGy BEGRIRE 1.0 14 99 2912 | 2926 ®% 830/140=59 1/59=017A

4 |BEEE100t81TF B RS 0.170| 9.800| 1.000| 1.000 246kW x0.0400/kW/h=9.849.80
4071 HUTNS o BERIRE 1.0 14 99 2912 | 2927 ®% 830/140=59 1/59=017A

4 |HEmEE1001EE B RS 0.170| 9.800| 1.000| 1.000 246kW x0.0400/kW/h=9.849.80
4072 HUTNS o BERIRE 1.0 14 99 2912 | 2928 ®% 830/140=59 1/59=017A

4 |HEHEEI00tFE B 0.170| 9.800| 1.000| 1.000 246kW x0.0400/kW/h=9.849.80
4074 HUTNS o BERIRE 1.0 14 99 2913 | 2926 ®% 830/140=59 1/59=017A

4 |E@mEE10tBRE(+25%) B 0170 9800 1.000] 1.000 246kW > 0.0400/kW/h=9.84=9.80
4075 HUTNS o BERIRE 1.0 14 99 2913 | 2927 ®% 830/140=59 1/59=017A

4 |EEEEI0tEE(+25%) RS 0.170| 9.800/ 1.000| 1.000 246kW < 0.0400/kW/h=9.84=9.80
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4076 BTN BERRE 1.0 14 99 2013 | 2928 W% 830/140=59 1/59=017A
4 |EEE210URE(+25%) B 0170] 9.800] 1.000| 1.000 246kW < 0.0400/kW/h=9.84=9.80
4078 | #£2-2-1(2) /MR R st B HR B SR AR B 1.0 13 99 2476 23kW X 0.1140/kW/h=2.62=2.60 2.60
3 JO-SREEEHE B2 CRES V) = 1.000| 17.900| 2.180 x6.9h=17.9=17.9¢
4079 | #2-2-102)| NETEHBRETG R 1.0 4078 -
1 Jo-SREHBS2FEChES VT) isdi] -6.900
4080 |#£2-2-204)| R Ee i B B B8R 1R 1.0 13 99 2981 150kW X 0.1140/kW/h=17.10=17.10
3 |mommmEseus sEEXGEESY) | B 1.000] 118.000|  2.180 17.10X6.9h=117.99=118.00
4081 |#£2-2-204)| R B B B B o 1R 1.0 4080 BE
] JSMEEEREUE, SEEKCREY YY) | -6.900
4082 E—RHL—BEREE 1.0 13 99 3521 2
4 TL—RIE3.Tm B AR R (35 1 REAE(E) | isdi] 0.190] 12.000 1.000 0.190
4086 |31-9-2-32)|{REID— T BERIRE 1.0 13 99 2486 N -
3 BE BN AR R (B R HE(S) ), BE3-4t =] 1.000f 15.000 1.600
4087 | #1-11-20)| BV RSV BEREE 1.0 1 100 | 2302 3kW % 0.3980/kW/h=1.19=1.20 1.20
3 |60-80ke:EsxkERI5h/ B = 1.000] 6.000] 1.000 x5h=60 fEEHEH
4088 |#£1-4-4(2)| 5o/ BERE (ERET) 1.0 1 100 | 2488 EEEE
3 60-80kg EExEERI5h/ B = 1.000] 4.500| 1.380
4089 |#1-2-6(3)|{REID— T BERIRE 1.0 13 99 2486 EEEE
3 usos armmormn s s prssre g 1.000| 13.000] 1.260
4091 | #£1-12-5065)| DR T I BT IR 2 1.0 99 2500 26kW X 0.1590/kW/h=4.13=4.10 4.10
2 LI AR SR ). 014 88.5-3.7m/h. 5.4h/ B = 22.100|  1.000 x5.4h=22.14%22.10 $REER
4092 |#1-5-6(3) |22 K M ETIRE 1.0 99 2501 39kW X 0.1590/kW/h=6.20=6.20 6.20
2 | AE SRt E5.0m/h, 450/ 8 5] 27.900|  1.000 X 4.5h=27.90=27.90 fEEFE
4094 | 24-4(5)|FEF AT 10 99 2391 22kW X 0.1918,/kW /h=4.20
2 27 &E2.5m BRI 4.200|  1.000
4096 | st1-2-15%) | BB IR E 1.0 2611 | 2399 1.3kW x 0.5008/kW /h=0.65=0.650
2 E%Eﬁﬁ‘y’}'—@ZSSmm =] 1.400 1.000 1/0.54:1.9 1.9><0.65:1.23':.1.20/E
4097 | #4-4(5) NS BEHEE 1.0 14 99 2203 710/150=4.7 1/47=021A
3 |HE#EEE4-45t S 0210 5500] 1.000 137kW x0.0400/kW/h=5.48=5.50
4098 | oo-smno| BHRERTERNSV2—BGRE | 10 13 2 2934 | -99 1000
5 6~ 10t = 1.000/ 1.500| 1.000| 26.000| 24.000
4099 | ss-9-20210| BT — TN IL— 2 BEARE 1.0 1 99 2411 EEEE
3 IUUUAL0L = 1.000] 6.000] 1530
4100 BN B E R 1.0 2 14 99 2936 EEEEE=1+-8=0.12550.13A/h
4 |m@st S 0130 0160 3400 1.000 BEF (—H)=1-63=0158=016A1/h
4101 05-11 /N BBER VT EERE 1.0 100 | 2938 EEEE
2 = 7.600|  1.000
4102 | #£8-4-26)8)| RoskoiEtsits kB IAY TEA- HECNOE) 1.0 13 99 2459 EH. IEEHBE
3 e s smn s wmoscmons on | B 0.680| 43.000| 1.000
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S a2-FNo £ (i 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) s ”
No. | mE%K 8 1% Bpy 1 2 3 4 5 6 7 8 9 10 .
4103 | #8-4-1(6)4)| Ny ok BERE OB TAVTEA ) | 1.0 13 99 2459 Ex. EEEE
3 AR RO, p— 5oL RS, WIROSCRIRO 83, 2017 =] 1.000f 69.000 1.160
4104 | #£1-12:506)| KB TL—HEERRE 1.0 13 99 2950 2284 Vo —MEE YL TEA (R EHEE)
4 LITRO S TR0 6rr) BEHEA R 54 520 (35 1 R ZEAEE) 1, 600-800KgHR(+25%) S 0.160 15.000 1.000] -6.300 7A—5% 690/110=63 1/6.3=0.16A
4105 |[#1-5-7(5)| KB TL—hEERE 1.0 13 99 2426 2285 y0—>% 690/110=6.3 1/6.3=0.16 A
4 Numsssonssmass surmssossn oo o | EEE 0.160| 15.000] 1.000| -6.300 104kWx0.1440/kW/h=14.97=15.00
4106 |[#1-5-7(5)| KB TL—hEERE 1.0 13 99 2427 2285 y0—>% 690/110=6.3 1/6.3=0.16 A
L R - 0.160| 15.000]  1.000| -6.300 104kW0.1440/kW/h=14.97=15.00
4107 | #1-12.56) |2 PP EREE R R 1.0 13 99 | 2137 | 2947 R Ry A kol
4 L) TR0 T B X B AR 1255, 561003 ) icdi] 0.160] 16.700 1.000| -6.300 0.1440/kW/h=16.70=16.70
4108 TIR—HEiRE 1.0 14 99 2085 420/80=5.3 1/5.3=0.19A
3 st ramassm i) B 0% | EEES 0190 4.200] 1.000 29kWx 0.1440/kW/h=4.17=4.20
| o [ [ [ e T e TS
3 LITEO.Br A0 Brr) AR ST (351 D) 1, 9L-2.915 FEF 0.160[ 15.000 1.000 0
4110 | 02-203)15)|{BAEEB A/ Ny IR EEIFE 1.0 13 99 2416 2409 MARET
4 |umosmmomipssinnos sasa, gresion | BRI 0.160| 16.000] 1.000| 1.000 IREHIH
4111 | oro-zmeon 0| Rq—LA—4 EE R E 1.0 13 99 2949 TERBRKRE(TEEER) EREREC
3 |saesm (s2kmsem) W1d-14d | B 1.000| 45000 1550 BREEER
4112 | #£1-6-22)| KRR TL—NBERE 10 13 99 | 2134 | 2285 e i 4 97
4 V14O i TR 6y — STt R S (2R B ) 1(+25%), 1300KkeiR Hérfﬁiﬁ 0.160 15.000 1.000 -6.300 15.00
4113 | 07-1004@2)| N R BE R B 1.0 13 99 2419 AR EE
3 VLU0, B A0, 6rm) [ Hh A BT (2R ALAE () | =] 0.900( 72.000 1.000 EEFER
4114 | #£5-5-20)4)| /Sy ok BERAE R (EBER T, Hii~) 1.0 13 99 2456 HEEE
3 TR AR (2RI | - 50— 5 WO ST 0.6 =] 0.580[ 41.000 0.790
4115 | #£5-5-2(8)4)| Ny B R B (AR EA T, HhEAH) 1.0 13 99 2456 fBEERIE
3 TR AR (2R IAE ) | - 50— 5 WO ST 0.6 =] 0.900[ 65.000 1.000
4116 | #£5-5-208)4) [/ \wokmiBenit 2 (AMER T, HiL) 1.0 13 99 2456 fRESE
3 TR AR (2RI | - 50— 5 WO ST 0.6 =] 1.000f 72.000 1.000
4117 | #5-5-18)3)| /Ny IR EER R E (ABERAT) 1.0 13 99 2456 fEESE
3 T RS S (2R H) |+ HE— 5 LR S A0 i) =] 0.580[ 41.000 0.790
4118 | #5-5-18)3)| /N IR HEBER B (FARETI) 1.0 13 99 2456 fEESE
3 TR AR (2R IAE ) | - 50— 5 WL ST A0, ) =] 0.900f 65.000 1.000
4119 |#£8-9(6)6) [/ Ny IR B RE (KB L DSFKE) 1.0 13 99 2459 fEEBE
3 0.8 HK0.6m) oL —> 2 Ot M BIEBEE B, SR N ARHRD (SHIRAHEAE) ) E 1 OOO 88000 1 360
4120 [££8-9(6)6)|/\vohyiBiniE & (KA + OS554E - &iE) 1.0 13 99 2459 fRESE
3 L0 HK0.6m) oL —> 2 Ot N BIEEE B, SR N ARHRD (SHIRAHEAE) ) E 1 OOO 98000 1 390
4121 | #£8-9(6)6) [/ Ny oK EER iR E (KB T DS E) 1.0 13 99 2459 fEEBE
3 0.8 HR0.6m) oL —> 2 Ot B BIEBEE B, SR N ARHRD (SHIRAHEAE) ) E 1 OOO 74000 1 260
4122 | #3-1-1004)| Pz ube—BERZ & (ERH) 1.0 101 2544 fRESE
2 126MJ(30,100kcal) H 66.600 1.200
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&= # B
S8 2-FNo £ R ERR FEGEME S TRESH GERENZEBICTEMBSIC-12M4T) i
No. | mE%H 1 1% B 1 2 3 4 5 6 7 8 9 10 .
4123 | #£3-1-1004)| S TyNe— 2BERIEE (5555) 1.0 101 2544 EEEE
2 126MJ(30,100kcal) = 54.720|  1.200
4124 | #£3-1-1004) | S Tye—BBERIEE (NEY) 1.0 101 2544 EEEE
2 126MJ(30,100kcal) = 72.360|  1.200
4126 | sa3-14-8(8)|/ N\ R EER iR & 1.0 13 99 2150 fRESE
T P = 1.000| 39.000| 1.560
4135 (+ I
4136 | #£1-2-1(2)| BEXIHBI(178) 1000 | 4096 1
2 m2 0140 0.140
4137 | #£1-2-1(2)| BEXIHH B (278) 1000 | 4096 1
2 m2 0.320] 0.320
4141 | 3£1-3-4(4)| Nk BER B 1.0 13 99 2432 HEHI - FEA
R I = 1.000| 69.000| 1.480 BEEE
4142 | 3£1-3-4(4)| Ny R BER B 1.0 13 99 2432 aneibitcl]
5] 1.000| 69.000{ 1.500 HEFE
4143 | #£1-3-4(4) | R bR BERR 1.0 13 99 2428 EY - A
T . 5] 1.000| 62.000|  1.460 BEEE
4144 | $£1-3-4(4) | R BERRE 1.0 13 99 2430 EY - A
I , =i 1.000| 100.000] 1.410 EEEE
4145 | #£1-3-4(4) | Rk BERR 1.0 13 99 2430 JoEl
3 linn semrn sermsmsommsnn s 5] 1.000| 100.000{  1.520 HEFE
4146 | #£1-3-4(4)| Rk BERRE 1.0 13 99 2428 AEN
3 lunn e wimnmssn seon s s 5] 1.000| 62.000| 1.440 HEFE
4147 | $£1-2-1(4) | HABBRR (BRAK) 1000 | 4168 2
2 ey T AR (2R ) | 50— 51 045 m2 0.800 0.030
4148 | $£1-2-1(4)| HABBRR (R #K) 1000 | 4168 2
2 Py L AR (2R AE) | 50— 51 045 m2 1.010 0.040
4149 | $#£1-2-1(4)| HABBRR (B4K) 1000 | 4168 2
2 Sy e TR RS (382 R A 1 90— 5T, L1045 m2 1.220 0.050
4150 | #£1-2-1(4)| BB (BRAK) 1000 | 4166 2
2 Syl S AR (B2 RIAE) 1/0— 5 LLIFH0.8n m2 0.460 0.030
4151 | $#£1-2-1(4) | MABBRR (R #K) 1000 | 4166 2
2 Pyl g AR (2RI E) 17— 5 LLIFE0.8n m2 0.580 0.040
4152 | #£1-2-1(4)| MABBRR (B54K) 1000 | 4166 2
2 Syl S AR (B2 RIAE) 1/0— 5 LLIFE0.8n m2 0.700 0.050
4154 | #£1-2-106)|BE/F (15 100.0 2 PRREIRRE
1 m2 0.420
4155 | #£1-2-106)| B/ (25) 100.0 2 EApRANAY)N ]
1 m2 0.710




=
H B - B =%
S a2-FNo £ i) 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) i =
No. HEHK #H % =X (v 1 2 3 4 5 6 7 8 9 10
4157 02-2()| AniEsGRiE) B BEL %t -wEt| 100 2
1 m3 4.200
4158 02-2(1) | AAIEHI(BRIB) £ EA-HE(1A 10.0 2
1 m3 6.000
4160 | #1-2-20)1)|1R%k B L] 10.0 -1 -2 4168 1000
4 S e B KA (S50 S 1 50—, IO 450 m3 0.630 0.420 3.300 9.000
4161 | #£1-2-203)2) | 1B ¥k FEA 10.0 1 4168
2 Sy e B KA (S50 S 1 50—, IO 450 m3 0.270 3.600
4163 | #£7-2-5)1) | 1R HRER - FHiE 10.0 =24 -1 -2 4029 1000
5 o A3 A 90— 5, WO 450 — AT m 0.090 0.100 0.150 1.500 4.000
4164 NI RIBELIR B 1.0 13 99 2416 ~o0—>% 690/110=6.3 1/6.3=0.16 A
3 |oosw wmommomriusaes ox | BsR | 0.160] 15.000] 1,000 104kWx0.1440/kW/h=14.9715.00
4165 NI RIEELIR 1.0 13 99 2951 ~o0—>% 690/110=6.3 1/6.3=0.16 A
3 W08 RO.6n)/0— SN EBERE ST -4 i A M ST A REHERE) I+ 0% B:—l—fﬁaﬁ 0.1 60 1 5.000 1 .OOO 1 O4kW X 0'1 44Q/kW/h:1 4'97 = 1 5'00
4166 NI RIBELIR B 1.0 13 99 2132 ~o0—>% 690/110=6.3 1/6.3=0.16 A
3 IO ST HRO.6r) it Ay S (2 ) 1+ 0% | PRFTE) 0.160[ 15.000 1.000 104kW X 0.1440/kW/h=14.97515.00
4167 NI RIEELIR 1.0 13 99 2120 ~yo0—>% 690/110=6.3 1/6.3=0.16 A
3 VLR0.260 T AR0.200) A5 S (B2 B A) 1+ O iSdE] 0.160 5.900 1.000 4TkWx0.1440/kW/h=5.955.90
4168 NI RIBELIR B 1.0 13 99 2123 ~yo0—>% 690/110=6.3 1/6.3=0.16 A
3 RO A5 A0 35 S AR 20 (B2 ) L+ O fF 0.160 8.600 1.000 B60kW x0.1440/kW/h=8.64=8.60
4169 NI RIBELIR 1.0 13 99 2124 ~yo0—>% 690/110=6.3 1/6.3=0.16 A
3 WO 45T R0 350 B AT (o) 1+ 10% | REE] 0.160 8.600 1.000 BOkW > 0.1440/kW/h=8.64=8.60
4170 NI RIBELIR 1.0 13 99 2125 ~yo0—>% 690/110=6.3 1/6.3=0.16 A
3 R0 45T R0 350 B AT (24 1+ 26% | RF[E] 0.160 8.600 1.000 BOkW > 0.1440/kW/h=8.64=8.60
4172 |#1-5-6(D)|BBLIMY &E(I)B 10.0 4105 2079
2 |ssien ssmsmn mossnm. wiosmmoss, xa e s00in m3 0.820 0.010
4173 |#1-5-6()|AEBIMY E(L) 10.0 4105 2079
2 |sesien smsmsmn ossnm. wosmmons. xa e so0in m3 1.020 0.010
4174 | #£1-5-6()|FEATAEY] HiES 10.0 4106 2079
2 . Y [— m3 1.350 0.050
4175 |#1-5-6(D|AEBIMmY) BE(I) 10.0 4106 2079
2 s o T —— m3 1.750 0.070
4176 |[#£1-3-4Q2)| FU1HEHI B -PpE L ML -BEL 10.0 2 4146 MEFRERE
2 P ———— m3 0.170f -11.600
4177 |3#1-3-4(2)| FEDIEHI B -ER -#E(LA 10.0 2 4146 MEFRERE
2 P ——— m3 0.250[ -8.700
4178 |[#£1-3-4Q2)| AUIHEHI #-PpE L LT -HMEL 10.0 2 4145
2 P ———— m3 0.110f -23.300
4179 |3#1-3-4(2)| FtDiEHI B -ER -#E(LA 10.0 2 4145
2 JeT— s ) — m3 0.160[ -17.500




=
H B - B =%
S a2-FNo £ i) 1ERK TRIFEEES  TRESE (ERENZEBICEEMESCI-12649) i
No. HEHK #H % =X (v 1 2 3 4 5 6 7 8 9 10
4180 |#1-5-6)|BABLAY) &AE(I)B 10.0 -1 -2 -4092 | -2281 -4165 1000
6 AR, LHRO SR 6 SR £ 334D (O S48) m3 0.450 0.170 0.050 0.280 1.060 1.000
4181 |#1-5-6)|BABILAY #AE(L) 10.0 -1 -2 -4092 | -2281 -4105 | -2079 1000
7 P ————— m3 0.590 0.250 0.090 0.380 1.110 0.010 1.000
4182 |#1-5-6Q3)|BEAITHY] HiESE 10.0 -1 -2 -4092 | -2281 -4106 | -2079 1000
7 P ——— m3 0.830 0.340 0.130 0.5670 1.460 0.040 1.000
4183 |#1-5-6Q)|BABILAY BE(IL) 10.0 -1 -2 -4092 | -2281 -4106 | -2079 1000
7 P ————— m3 1.410 0.640 0.230 0.970 1.900 0.060 1.000
4184 |#£1-3-4Q2)| AUiEHI -0 E L AL -HEL 10 2 4142 WEERERE
4185 |31-3-4(2)| FtNiEHI B -ER -#E(LA 10 2 4142 NEFRAERE
2 omman, wrm cuns m3 0.250[ -8.700
4186 H1-6-1 |8 AR 10.0 4112 2079
2 AR R (2R EAAE) . LU0 8ni( TR0 6nf), KB TL—1,300keik m3 2000 0020
4187 02-2(2)[AnmtBRL) B -BEL et wEt | 10.0 2
1 m3 2.400
4188 02-2(2)[Anm+(BRL) B5-FA - HE(DA 10.0 2
1 m3 2.600
4190 | s o BT EIGL - FEE D 100.0 4009 2 4086 MEFRERE
3 3, BB A A BN AR R m3 -1.300 0.300] -0.780
4191 | #£1-8-1(5)| Bt #H L - FHE D 100.0 2 4002 B
2 TIR—H 1 R A SR (55 1 R | m3 0.300[ -0.380
4192 | #£1-8-1(5)| Bt #H L - FHE D 100.0 2 4004
TILR— 1 SR T AR SR (55 1 R | m3 0.300[ -0.440
4193 |#£1-8-1(5)| BT #H L - fHE D 100.0 2 4006 10,000m3LLE
TIR— 2V R T AR SR (55 1 L) | m3 0.300f -0.620
4194 | wnwr sie0| F L EIIL - FEED 1.0 4002 B
1 FUR— R RS (S | KA | m3 | -38.000 38m3/h
4195 | wner xie0| L EIIL - FEE D 1.0 4004
1 |oevismrmmrassmopisasm, | m3 | -44.000 44m3/h
4196 | wnor xie0| L EIIL - FEE D 1.0 4006 10,000m3LL £
1 TR 2R B RS (S | KA | m3 | -62.000 62m3/h
4197 | 02-9()7|AHE B -BEL L BB+ 10.0 4157 4225
2 m 1.800 4.240
4198 | 02-9(N)7|AHRIE EH-TA 10.0 4158 4225
2 m 1.800 4.240
4199 | 02-9()7| AHAIE #E(T)A 10.0 4158 4225
2 m 1.500 3.610
4200 02-9(1)1 |Hemifalg 0 WEL - HlT BEL 10.0 4306 4225 B
2 m 1.800 4.240

/Ny Y770 28m3ik. HEH A XA R (2 REKENE)




=
s # — E
iy 3-FNo % R 1EBL LREEEES FRESH (ERENZREBEBICIEEMESICI-1&2M47) i
No. HEHK 557) % BT 1 2 3 4 5 6 7 8 ¢ 10
4201 02-9(1 1 | HmlE BR-E£R 10.0 4306 4225
2 /SyH40.28m3R. AR AR (B2 REAEE) m 1.800 4.240
4202 | 02-9(1)1 [#mfalE #E(1)A 10.0 4306 4225
2 /SyH40.28m3R. AR AR (B2 REAE(E) m 1.600 3.610
4203 | 02-9(1)1 [tmfalE #&(1)B 10.0 4306 4270 4226
3 /5h90.28m3Mh, YA AN EE G2REEN) . KB TL—hE 1 300kekk m 1.200 1.200 3.160
4204 | 02-9(1)1 [#mifaE s (1) 10.0 4306 4271 4226
3 /5h90.28m3Mh, Y AN EE GB2REEN) . KBTI —hiE 1 300kekk m 1.200 1.200 3.160
4205 | 02-9(1)1 [#mfAlE FiEs 10.0 4306 4272 4226
3 /84902838, HEHHA AR RE (B2 REEME) KBTL—DHE] ZCGkg-‘(,E m 1 200 1 200 31 60
4206 | 02-9(1)1 [#mfAE wmE(1) 10.0 4306 4273 4226
3 /5h90.28m3Mh, Y AN EE GB2REEN) KB TL—hiE 1 300kekk m 1.200 1.200 3.160
4208 | 02-10(1)|KEIE B -wEL ML -HE+ 10.0 4263 24 2
3 ey he0 8m3sh, FEBE R - B A E R (BRI m3 10.000 0.070 0.590
4209 | 02-10(1)|XAIE B EH-EE(IA 10.0 4264 24 2
3 Pey 0 8m3sh, FEBE R Bt A E R (BRI m3 10.000 0.070 0.590
4210 | 02-10(2)| Xf;E #&&E(I)B 10.0 -24 -1 -2 1000 4263 4270
6 e — m3 0.190 0.510 0.650 0.900( 10.000| 10.000
4211 02-10(2)| XflE #&A(D) 10.0 -24 -1 -2 1000 4263 4271
6 0SS, BB 5 R BRI, ST~ S0l m3 0.190 0.510 0.650 0.900( 10.000] 10.000
4212 | 02-10(2) | KEIE +EE 10.0 -24 -1 -2 1000 4263 4272
6 e — m3 0.190 0.510 0.650 0.900( 10.000| 10.000
4213 | 02-10(2) | KE W& 10.0 -24 -1 -2 1000 4263 4273
6 e — m3 0.190 0.510 0.650 0.900[ 10.000| 10.000
4215 | 02-10(1)[7kERT ®-WbE+-#aMEL -ME+ 10.0 4263 24 2
3 ey he0 8m3sh, EEBE R - Bt A E T (BRI m3 10.000 0.070 0.590
4216 | 02-10(1)[KEET E#-ER-EE(IA 10.0 4264 24 2
3 ey he0 8m3sh, EEBE R - Bt A E R (BRI m3 10.000 0.070 0.590
4217 | 02-10(2)|kBET #&&E(I)B 10.0 -24 -1 -2 1000 4263 4270
6 0SS, BB S R BRI, ST~ S0t m3 0.190 0.510 0.650 0.900{ 10.000] 10.000
4218 | 02-10(2)|/kEET #HE(I) 10.0 -24 -1 -2 1000 | 4263 | 4271
6 TR — m3 0.190 0.510 0.650 0.900[ 10.000| 10.000
4219 | 02-10(2) |k A 10.0 -24 -1 -2 1000 4263 4272
6 TR — m3 0.190 0.510 0.650 0.900[ 10.000| 10.000
4220 | 02-10(2)[kEET W& 10.0 -24 -1 -2 1000 4263 4273
6 e — m3 0.190 0.510 0.650 0.900[ 10.000| 10.000
4222 02-11|#&HL 1.0 4004 2
2 TILR—H1 SR AR SR (551 A ) m 0.020 0.120
4223 02-12 | RpEtgL 100.0 4004 2
2 UL BRI PR AR (55 1 RSN ) m 1.120 0.900




5

221

S a2-FNo £ i) 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) .
No. | mE%K 8 1% Bfy 1 2 3 4 5 6 7 8 9 10 .
4225 ;i:-] ’1 1 71 ANEEEERT B-BEL T BEL SR TA RE(1A 1 OOO 24 2 jftﬂ ﬁ%
2 m2 0.700 5.900
4226 | FH1-11-1 | rgtsmens waDHe-wa(D-eme-me | 100.0 -24 -1 -2 1000 EUEE
4 m2 1.900 5.100 6.500 9.000
4228 | FH1-11-2|AhgEI(EMER B -BEL %%+ | 100.0 24 2 4087
3 m2 0.800 4.300 0.800
4230 |HI1-10-1|ULEEERT W-WEL-#MEL| 1000 24 2 4166 EEEIYE TR
3 /SyRILIHI0.8m, HEHI R 3 R (52 ) m2 0.300 2.000 3.200
4231 [H1-10-1|ULZEERT #EL 100.0 24 2 4166 EEE YR
3 /SRR B I R AT HER (2RI m2 0.500 2.100 4.200
4232 [ #1-10-1 |9 t:mERT £ FA-&E(IA| 1000 24 2 4166 ERETYRIR
3 /SyRILIHI0.8m, HEHI R 3 R (52 ) m2 0.600 3.100 6.800
4234 | 02-14(1) |ptsmspToamt e »-wat-wet | 100.0 24 2 4166 B
3 /SyRILIHI0.8, HEHIH R 3 R (52 ) m2 0.050 0.300 3.200
4235 | 02-14()|vt#=mERIEEA LT BEL | 1000 24 2 4166 BE
3 /SyRILIHI0.8m, HEHI R 3 R (52 ) m2 0.080 0.320 4.200
4236 | 02-14(1)|grsmepIoame ) &5 E5-%E(DA 100.0 24 2 4166 BE
3 /SyRILHI0.8, HEHI R 3 R (52 ) m2 0.090 0.470 6.800
4238 | H1-10-2 | st Ameh T (MURVER) B BEL ML 100.0 24 2 4166 HAE TR £
3 SRR B I R AT HER (2RI m2 0.100 0.700 2.600
4239 | #1-10-2 |t xEEBHI (MYRYER) #E+ | 1000 24 2 4166 BT RRE £
3 JSyRILHI0.8, HEHI R 3 R (52 ) m2 0.100 0.500 2.300
4241 | #F£1-10-3|gmsssr(tmen »-wEL et g | 100.0 24 2 4166
3 /SyHRILIHI0.8m, HEHI A R 3 R (52 ) m2 0.400 0.900 4.000
4243 | 02-14(4) | ExmERT B-BEL-#EL| 1000 24 2 4166 BT RRE £
3 /Sy RILHI0.8, HEHIH R 3 R (52 L) m2 0.060 0.420 1.560
4244 | 02-14(4) | RTEEmERT BEL 100.0 24 2 4166 BT RRE £
3 /SyoRILIHI0.8, HEHI R 3 R (52 ) m2 0.060 0.300 1.380
4245 #4-6-1|FBFHFT B-WEL 100.0 24 2 4087 1181
4 m2 0.500 4.100 0.800( 340.000
4246 H4-6-1|FEFFL #HiEL 100.0 24 2 4087 1181
4 m2 0.500 5.900 0.800] 340.000
4247 #4-6-1|HFZT(EZEREL) #-BEL| 1000 24 2 4087 1183
4 m2 0.500 5.000 0.800[ 47.000
4248 H4-6-1|HFZT(EZEREL) L 100.0 24 2 4087 1183
4 m2 0.500 6.300 0.800[ 47.000
4249 #4-6-1|HFZT(EZERY) #-#EL | 1000 -24 -2 4087 -1183 1000
5 m2 0.500 5.000 0.800[ 47.000 4.000
4250 H4-6-1|HFZT(BEZHERY) #HEL 100.0 -24 -2 4087 -1183 1000
5 m2 0.500 6.300 0.800 47.000 4.000




& #

iy 3-FNo % R 1EBL LREEEES FRESH (ERENZREBEBICIEEMESICI-1&2M47) i =

No. | mBE% i 1% B 1 2 3 4 5 6 7 8 9 10

4251 | #£4-6-2|EZ T (HZHERL) 1000 | -24 -2 | -1183 | 1000
4 m2 0.600| 6.400 100.000|  4.000

4252 | #4-6-2|®Z T (HZBEHY) 1000 | -24 -2 | -1183 | 1000
4 m2 0.600| 6.400 100.000| 8.000

4253 | #4-6-3|E#ZT 1000 | 24 2 1183
3 m 0.190| 1.890| 15.000

4258 05-10(#&H@ET 1000 | 1256 | 1269 | 2614 2
4 m2 0.300] 0900 5000/ 0390

4259 05-11|Z#ok&EET 100.0 1 2 4101
3 m2 0.060] 0060 0.060

4262 | 05-16(2)|m+AEBRRHLEZT 1000 | -24 -2 | 3839 | 1000 I
4 |£®@-L) @30cm Fa3omiBE | m 0.210] 1.140| 30000 4000

4263 |#£1-3-3(3)|eMsRIE B WEL Rt BEL | 1000 | 4268 2
2 |rmoume smnns surompmsne e nes | m3 | -2.2000  0.300

4264 |3£1-3-3(3)|MMIRIE E1-FA-BA(1A | 1000 | 4268 2
2 |rmoume snns surompmsne e nes | m3 | ~1.600]  0.300

4265 |#£1-3-3(3)|HeMsRIE B WEL Rt BEL | 1000 | 4267 2
2 |rmoumsie snsn suomsmonsss mee = | m3 | ~1.500]  0.300

4266 | 3£1-3-3(3)| MR Ei-ER-HA(1A | 1000 | 4267 2
2 /Sy AIR0 A5, BIERE T, AN ED (BIREE)  EEGL, B m3 -1.100 0.300 _

4267 |3£1-3-4(4)| /Ny kB B 1.0 13 99 | 2428 FRILGrm DB
8 |ens sewss sersmsimnsnn mosumsosmis | Bl 1.000] 62.000{ 1.380 R

4268 |31-3-4(4)| /Ny kB B 10 13 99 | 2430 fERL TRET)BEA
R P N = 1,000/ 100.000|  1.480 EERE

4270 | 02-15(2) |MmisRiE( 1) & (1)B 100 | 4105 | 2079 2 4353 BEHIERTI-KRTL—DOAMERTES
4 loosnwirnsmssnn s s | M3 0820| 0010] 0030 10000 HE-EA

4271 | 02-15(2)|MmERIE( 1) B (1) 100 | 4105 | 2079 2 4353 BEHIERTI- KRBTV —DOAMERTES
4 loosnsrnsmssnn s s | M3 1.020] 0010] 0030] 10.000 HE-EA

4272 | 02-15(2)|MMERIE(T) RER 100 | 4106 | 2079 2 4354 BEHIERTI-KBTL—DOAMERTES
4 oo R L 1.350]  0.050| 0.030] 10.000 BEEA _

4273 | 02-15(2)|HetisRim( 1) @ (1) 100 | 4106 | 2079 | 2 | 4354 BHIE DAL T — DB AITFE CE o
4 loosnsrnsmssnn s s | M3 1750/ 0.070| 0030| 10.000 HE-EA

4274 | 02-15(2) [MmpRIE(T) & (1)B 100 | 4105 | 2079 2 4353 Eg%ﬁﬁf:*-ﬂ%—m”\ﬂm‘%é
4 loosnwrnsmssnn i s | M3 1590/ 0.010| 0030] 10.000 -

4275 | 02-15(2) [#HipkiE( ) & (1D 100 | 4105 | 2079 2 4353 Eg%ﬁﬁf:*-ﬂ%—m”\ﬂm‘%é
4 loosnwrnsmssnn s s | M3 1960 0.010] 0030] 10.000 -

4276 | 02-15(2) |[#MmERim( L) HREs 100 | 4106 | 2079 2 4354 HEF- AR IL—DEANGNBE
4 loosnwrnsmssnn i s | M3 2560| 0050] 0.030] 10.000 =87

4277 | 02-15(2) |#ipkiE() BA(D) 100 | 4106 | 2079 2 4354 Eg%ﬁﬁf:*-ﬂ%—m”\ﬂm‘%é
4 o s e s | M3 3450| 0070 0.030] 10.000 -




=
H B - B =%
S a2-FNo £ i) 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) . =
No. HEHK #H % =X (v 1 2 3 4 5 6 7 8 9 10
4281 M1-1-2 | BREEH S LA D) 1.0 2
1 BEHHLED m3 0.150
4285 02-18(3)|B&ERAAfE LT H=20cm 250.0 24 2 4166
3 7y r0.8m3HR Tt A AR (2R EEAE) | m 0.200] 0.600f 2600
4286 | o02-184)z) |[BRKREEKT #BRE 6 50mm(2@EZEK) | 100.0 24 2 2621
3 m 0.200 0.500] 101.000
4288 | #1-12:3()|aAVY - EEEL T &R 10.0 =24 -2 -4104 1000
4 U0 B ), S O ). ST SO0~ BOOKIR(25%) m3 0.500 0.800 2.5600 1.000
4289 | #1-12:3()|avY - EEEL T #/5 10.0 =24 =12 -2 -4104 1000
5 o F RO, T m3 0.600 0.700 1.700 4900 4.000
4290 | #£1-12-3(1)|avP)— BUBEL T BRK 10.0 =24 =12 -2 -4104 1000
5 U0 ), S O ). ST SO0~ BOOKIR(25%) m3 0.400 0.700 1.300 5.100 4.000
4291 | #£1-12:3) |9 )— EEEL T &R 10.0 =24 -1 -2 -2281 -4091 1000
6 a9 )—hJL—H20kg#k m3 1.600 6.000 4.100 4.200 2.100 2.000
4292 | #£1-12:3)|avY)— EEEL T #/5 10.0 =24 -1 =12 -2 -2281 -4091 1000
7 a9 )—hJL—H20kg#k m3 2.600 9.400 0.700 6.900 5.800 2.900 2.000
4293 | #£1-12:3®)|avY)— EEEL T &R 10.0 24 2 4107
3 a9 —ERH56~100t m3 0.700 0.800 5.000
4294 | #£1-12:3®)|aV Y- EEEL T #/5 10.0 =24 =12 -2 -4107 1000
5 a9 —~ERH56~100t m3 0.700 0.700 1.300 5.000 3.000
4295 | #£1-12-4|BuEL a2 —MRALEE T (578 - 73A) 10.0 2 4022 Vr=3,600%0.59x0.30+-35=18.20=
2 |oummmmmssss s coomsnn | M3 0.400| -1.820 18.2m3/h
4297 |02-203)7 |mABRETL (£ -F&ED) 10.0 24 2 3 -4110 1000
5 T —— m3 0.060 0.190 0.010 0.600 4.000
4298 |02-203)7 |ABRETL (£ -F&ED) 10.0 24 2 3 4110
4 L —— m3 0.060 0.190 0.010 0.600
4299 | 02-2003)1|imARKRET (F&A) 10.0 -4110 1000
2 AL S AR B ) 51 TR ). AHUE Ot m3 0.200f 12.000
4300 | wvom o e | BT (LB) L #HED (EEt=5cm) 1.0 4312
1 /Sy UITR0.28m3, SEBO— 4 - T2/ SRR I~ AR m3 20.000
43071 | sz e | BRBET (LB) S350 - #5Es (BU/Zt=10cm) 1.0 4312
1 Sy UITA0.28m3, EBO— SR T5 s AR~ At m3 10.000
4302 | s v e | BT (LB) 390 #5E0H (B/Zt=20cm) 1.0 4312
1 Sy UITA0.28m3, EBO— SR T2 AR~ At m3 5.000
4303 | wiven o woes| BET (FE) HHL - #HEH (EE=20cm) 1.0 4312
1 Sy UITA0.28m3, EBO— SR T2/ AR~ m3 5.000
4305 02-8(4) [/ Ny BERRE (NRELT) 1.0 13 99 2953 fEEBE
3 SRS R2RANE) 50—~ B HMEEIE LIIR0 28m (0 2n) =] 1.000| 40.000 1.570
4306 02-8(4) [/ IR BRI VNRELT) 32.0 4305 fRESE
1 it R RS (2R K) - 90— 5 — B AR - L K0.28m3 (0.2m3) m3 1.000




f—
H #H — E
) 3-FNo % FR e TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) i =
No. EE# #H % == 1 2 & 4 5 6 7 8 9 10
4307 02-8(4) [Z2/CBELRR B (NREBELT) 1.0 1 100 2488 fRESE
3 60~80kg =] 1.000 5.000 1.610
4308 02-8(2)[/\y oI ERIENRELT) 10.0 2 4305
2 AR B2 RANE) 50— B HMEEE LIIR0 28m (0 2n) m3 0.300f -3.200
4309 02-8(3) [/ \woksiBRLUNEELT) 10.0 2 4305 4307
3 o —— — m3 0.700f -4.000] -3.600
4310 |[:83-15-2|HE4ELND>T 10.0 981 2860 2 4308
4 PR L0368 /n FUr— AR/ S FEAT m 60.000| 240.000 1.770 0.900
4312 | #K1-2-6(1) |BOFIBSAR T (BEH) L - FHEH 100.0 24 2 4167 4089 ERAEFT BRE E
4 SR L0.28m3, EBO—5 B I AR~ Atk m2 0.350 0.690 1.900 0.200
4317 (av9)—h1)
4318 | #7-10-2Q)| A AR BEEFEER LT 100.0 -24 -26 -2 1000
4 TE-BEEER (MR ERR) m2 4.300 4700 12.900] 54.000
4319 | #7-10-3Q3) | RE SR KEFR ST 100.0 -24 -26 -2 1000
4 IRV (B BIER) m2 4.000 5.800] 20.100 4.000
4321 | #£3-2(2)-(4)|SREAII T (P 13mmLLTF) 1.0 -24 -10 -2 1000 2623 HiGEMmNAEA TERWNGAIZER
5 t 0.200 1.100 0.700 2.000 1.030
4322 | #£3-202)-(4)|SREHINT (P 16~25mmELTR) 1.0 -24 -10 -2 1000 2624 HiGEMmAEA TERWNGAIZER
5 t 0.200 0.900 0.600 2.000 1.030
4323 | #£3-2(2)-(4)|SLEMNT (P 29~32mm) 1.0 -24 -10 -2 1000 2625 HiGEMmNAEA TERWNGAIZER
5 t 0.100 0.500 0.300 2.000 1.030
4324 #3-2(3) |8k Er#AIL (P 13mMmELTR) 1.0 -24 -10 -2 1000 HiGEMmNAEA TERWNGAIZER
4 t 0.400 1.800 1.500 3.000
4325 £3-2(3) | $RAHMEIL (P 16~25mmLL ) 1.0 -24 -10 -2 1000 HiGEMmNAEA TERWNGAIZER
4 t 0.300 1.500 1.300 3.000
4326 #3-2(3)| 8k Er#AL (P 29~32mm) 1.0 -24 -10 -2 1000 HiGEMmAEA TERWNGAIZER
4 t 0.200 0.900 0.800 3.000
4327 H3-2|$&FH T - #BIL (D 13mmLLT) 1.0 4321 4324 B
2 SD345 D13mm ke | -1000.000] -1000.000 5 BEAER TE VNS EIZER
4328 H3-2(8FMNT - #L (P 16~25mm) 1.0 4322 4325 B
2 SD345 D16-25mm kg -1000.000| -1000.000 HISEMAEATERNSEIZER
4329 H3-2 (8 FMNT - L (P29~32mm) 1.0 4323 4326 B
2 SD345 D29-32mm kg -1000.000| ~1000.000 MISEMAEATERNSEIZER
4331 | s#5-193)1)-(4)| {0 #E B #b B4 (F X7 7I)LRZR t=10mm) 10.0 24 2 524 MEHEE K=10x(1+0.12)=11.2
3 m2 0.050 0.290] 11.200
4332 | st5-1001)-4)| fiffE B #ERAH (T LR t=10mm) 10.0 24 2 526 MEHHIE K=10x (1+0.12)=11.2
3 m2 0.050 0.290] 11.200
4333 | st5-193)1)-)| f#E B HERAT (5 RSE4K t=10mm) 10.0 24 2 527 B
3 m2 0050 0290 11200 MEHHE K=10x (1+0.12)=11.2




s B - B =

a2y 3-FNo % i fEM FREBEMES TRIESH (ERENFEBCEEMEESICI-1E247)
No. EE# 3R % v 1 2 3 4 5 6 7 8 9 10
4335 [#1-3-4M)|P0L W-WEL-MEL-BEL 100.0 4143

1 {EZTERI L OWEHI, BT £ 8 10000m3FM, HEOHM: HY. BELL m3 71 31 O
4336 [#1-3-4N)|P1L B -FER-BAE(IA 100.0 4143

1 fEZTERI LA, BT £ 8 10,000m3%M, HEOAM: HY. BELL m3 70980
4337 [#1-3-4M)|P0L W-WEL-MEL-BEL 100.0 4144

1 fEZTERI L OWEK BT L8 10000m3%M, HBOAM GL BELL m3 72280
4338 [#1-3-4)|P1L B -ER-BAE(IA 100.0 4144

1 fEZTERI HILOWEK BT L8 10000m3%M, HBOAM LL. BELL m3 71 700
4339 [#1-3-4M)|P0L W-WEL-MEL-BEL 100.0 4143

1 12189150 . 581000001 SO0, RO 8. BE L m3 -1.540
4340 [#1-3-4M)|P1L B -FER-BAE(IA 100.0 4143

1 R e, T 100000 0000, SRR ), BESL m3 -1.150
4341 [#1-3-4M)|P0L W-WEL-MEL-BEL 100.0 4144

1 s 1 0o 000k, MDA L L m3 -2.670
4342 [#1-3-4M)|P1L BB -FR-BAE(IA 100.0 4144

1 s 1 0o 000k, DAL L m3 -2.000
4343 [#1-3-4M)|P0L W-WEL-MEL-BEL 100.0 4143

1 fERHER S IUOEAIRGA. T8 10000m3KH, HIROAM: HY. BEEL m3 71 1 20
4344 [3#1-3-4)|P0L BB -FR-BAE(IA 100.0 4143

1 {fERTER): #ILOMEHIFGA, BT L8 10000m3KE, HIROHR: HY. BELL m3 _0840
4345 [#1-3-4M)|P0L W-WEL-MEL-BEL 100.0 4144

1 fERHER IUOEAIRA. BT 8 10000m3KH, HIROAM: HL. BESL m3 71 950
4346 [#£1-3-4)|P1L B -FER-BAE(IA 100.0 4144

1 fERER UOEAIRA, T8 10000m3KH, HIROAM: HL. BELEL m3 71 460
4347 [#1-3-4M)|P0L W-WEL-MEL-BEL 100.0 4143

1 1 D, 810000005 5000, WO . L m3 -1.320
4348 [#1-3-4M)|P1L B -ER-BAE(IA 100.0 4143

1 1 . 810000005 500, WO . WL m3 -0.980
4349 [#1-3-4M)|P1L W-WEL-MEL-BEL 100.0 4144

1 RS L RN, ST 4810000035 £SO, SO L L m3 -2.290
4350 [#1-3-4)|P1L B -FER-BAE(IA 100.0 4144

1 s oD, 8110000035 SOOI, MO L L m3 -1.710
4351 [#1-3-4M)|90L W-WEL-MEL-BEL 100.0 4143

1 () OB, T B 0000, MR B BEEL m3 -1.220
4352 |#£1-3-4(1)|UIE AHHR-FR RS 100.0 4143

1 (S OB, T B 00003, MR B BEEL m3 -0.940
4353 [#1-3-4M)|P1L W-WEL-MEL-BEL 100.0 4144

1 (R B, TR 10000, SRR L. AL m3 -2.110
4354 |#£1-3-4(1)|UE EBBR-FR RS 100.0 4144

1 I LB OB, BT 100003, WO L. L m3 -1.620




=
H # — =
farc2) a-FNo £ R 1ER TRIFEEES  TRESE (ERENZEBICEEMESCI-12649) i
No. HEHK #H % =X (v 1 2 3 4 B 6 7 8 9 10
4355 |#1-3-4(D (Y1 ®-WEL-MELT-HEL 100.0 4143
1 T — m3 -1.430
4356 |#1-3-4() (Y1 EHfR-ERH HHE 100.0 4143
1 e m3 -1.100
4357 |#1-3-4(D (Y1 W -WEL- ML -BEL 100.0 4144
1 T —— m3 -2.480
4358 |#1-3-4() (U1 EH#R-ERH HHE 100.0 4144
1 wxnsrs_xzomoms wreniomo —— m3 -1.900
4359 |#1-3-4(D (Y1 W-WEL-MELT-HEL 100.0 4141
1 ‘(E%Xgﬂ ML OREH), T L8 5,000m3KH, HIROHE: — BELL m3 _0970
4360 |#1-3-4M (V1L EH|-ER-HE(IA 100.0 4141
1 {EETER: L DN, HET +8:5000m3%KH, HIROGM: — BELL m3 70730
4361 |#1-3-4(D (Y1 #W-WEL -t -BEL 100.0 4141
1 EETER: L OMHIRGA . BT 1+ 8 :5,000m3%k M, HlROAM: — BELGL m3 70830
4362 |#1-3-4M (V1L EH|-ER-EE(IA 100.0 4141
1 EETER: L OMHIRGA . BT 1+ 8 :5,000m3%k M, HlROAM: — BELGL m3 70620
4363 |#1-3-4(D (Y1 #W-WEL -MET-BEL 100.0 4141
1 R XGABOR, 5T £ B:5000mIA S, HROHE: — BEEL m3 -0.900
4364 |#1-3-4) (V1L EH-ER-FE(IA 100.0 4141
1 R KO, I 85000, WEDHR: — BEGL m3 -0.700
4369 CERICKEI))
4370 | 05-1(8)7 | RUELKHHER ¢ 30cmA 1.0 2 2867
2 & 0.060 1.000
4371 | 05-1(8)7 | RUEKHHER ¢ 40cmA 1.0 2 2868
2 & 0.090 1.000
4373 |B3-15-2|HEELDSKET 10.0 981 2860 2
3 TR IREY m 100.000/ 400.000 2.650
4374 | 3B3-15-3|RZ/KEKT 10.0 3839 1217 2
3 EZER m 15.000{ 420.000 1.010
4376 05-2(1)|3>4")—rERET (300 x 350mm) 1.0 -24 -2 2983 1000 EmMAED
4 MEE KIES RIS EHRD m 0.040 0.150 0.070 4.000
4377 05-2(1)|3>4)—rERET (400 x 450mm) 1.0 -24 -2 2983 1000 EmMMED
4 MRE. RIEE BlikEt EHED m 0.050 0.190 0.100 4.000
4378 05-2(1)|3>4")—rBRET (500 x 550mm) 1.0 -24 -2 2983 1000 ENMMED
4 MEE KIES BIERE EHRD m 0.060 0.240 0.130 4.000
4380 | 02-14(1)|otsmeproamtty) B wat ks | 100.0 24 2 4168 MEFERERE
3 £S5 LITRO ST AO.36m) B R SR (2 AL ) | m2 0.050 0.300 4.300
4381 02-14(1) | Yt EEERTEEML L) &+ | 100.0 24 2 4168 WEERERE
3 15y VR0 4SO 350 S A S R 2B ) | m2 0.080 0.320 5.600




—
H #H — B =
S 3-FNo % i) 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) . =
No. HEHK #H % =X (v 1 2 3 4 B 6 7 8 9 10
4382 | 02-14(1) |p+smepoame ) s x=5-wa0a | 100.0 24 2 4168 WEERERE
3 £S5 LITHO ST AO.36m) BN R FH SR (2 L) | m2 0.090 0.470 8.200
4384 | #1-10-2|mtzmenTvmver »-wetges | 100.0 24 2 4168 MEFRERE, KRR L
3 £S5 LITHO ST AO.36m) HEHH R RS (2 AL ) | m2 0.100 0.700 3.5600
4385 | #1-10-2 |t xEEBH I (MYRYER) #E+ | 1000 24 2 4168 WEERERE. RIEIR&RET L
3 £S5 LITHO 45T AO.36m) B R SR (2 AL ) | m2 0.100 0.500 3.100
4390 | 43-14-8(8)|/\wI R EERRE 1.0 13 99 2150 fBEERIE
3 B BB 70 51 A, MO 28 E MO B H 1.000] 39.000 1.660
4391 | sA3-14-8(2)|AEARIUSTEEAM U-400(p400mmAa) 10.0 -24 -1 -2 3392 -4390 1000
6 ABARUFERE U-400(H 400mmA) m 0.410 0.410 0.820| 10.000 0.410 0.300
4396 (LBI HETE)
4397 H5-5-1|ERBAT 155.0 -24 -1 -2 -4117 1000 MEHHIE+20%
5 T — m2 0.600 1.100 2.900 1.000 0.700
4398 | #£5-5-1|EHEHET 108.5 -24 -1 -2 -4117 | 1000 HSUETE:155m2x0.7=108.5m2, ##4
I P S m2 0600 1.100| 2900/ 1.000| 0.700 E+20%[20cmE @A H1-00 TER 2]
4399 H5-5-1|ZEARAL 38.0 -24 -1 -2 -4118 1000 MEHHIE+20%
5 (3 N AR E R (B2 RE ) |- /0— 5B L0 8ni LH0.6ni), H14 BBIR m3 0700 1 300 3300 1 OOO 0700
4401 H#5-5-2 | ERERT (HHL) 161.0 -24 -1 -2 -4116 1000 HHLEI0MET, MFHHIE+14%
5 T A (52 AR ) - /01— 5 LR S H0.6ni) m2 0.700 1.200 3.400 1.000 0.600
4402 H#5-5-2|ERERT (HA~) 100.0 -24 -1 -2 -4114 1000 HAREI0mET, MEHFEIE+14%
5 T AR (2RI ) 50— 58 O ST RO 6 m2 0.900 1.200 3.100 1.000 0.600
4403 #5-5-2|EAFERIT(AERAH) 31.0 -24 -1 -2 -4115 1000 MEMHIE+14%
5 T AR (B2 R ) 50— 58 O ST RO 6 m3 0.700 1.300 3.300 1.000 0.600
4404 #5-5-2|EAFERTI(EILT) 10.0 -2 1000 MEMHIE+14%
2 m3 6.700 0.700
4406 | #5-7(3)1)|SAE T 1.0 399 24 2 2563 BE
4 SOTL— oL T BN AR E R G 1 RENE) BE MBS TR 16tR t 1000 0200 1600 0060
4407 | #5-7(3)1) |SRE T AT 1.0 399 24 2 4109
4 <o/ =B — A BN A3 R B0 BCRIRO S 91 t 1.000 0.150 1.180 1.590
4408 |#5-7(3)2) |SAERTHER 1.0 2
1 ADHET (MRER BI&) m3 0.300
4409 |#5-7(3)2) |SRAERTHER 1.0 2 4164 BE
2 HO— SR HE A AR SR ) LUFK0. 8l TEAK0 6, B HE T (14 B 31R) m3 01 OO 0200
4410 [££5-7(3)3)| T R/SURARLERfF 10.0 942 2 EHEit L
2 XS—43(AYF T &) m2 10.000 0.200
4412 $5-8 | SHEE AL LA - BERE ST 1.0 24 2
2 AN BT (B ERIER) t 0.400 3.600
4413 $5-8 | SHEE AL LA - BERE ST 1.0 24 2 2983
3 BT (R ERIR) t 0.300 2.200 0.100
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S a-FNo £ i) 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) .
No. HEE#H b5 % ==L 1 2 8 4 5 6 7 8 9 10
4415 | #£5-9-2(4)| @R VO—THE 111.0 24 5
2 2.6mm X 50mm X 50mm m2 1.000 7.000
4416 | #£5-9-2(4)| @R VOO—THE 94.0 24 5
2 3.2mm X 50mm X 50mm m2 1.000 7.000
4417 | #£5-9-2(4)| @R VO—THE 79.0 24 5
2 4.0mm X 50mm X 50mm m2 1.000 7.000
4418 | #£5-9-2(4)| @R VO—THE 63.0 24 5
2 5.0mm X 50mm X 50mm m2 1.000 7.000
4420 | #£5-9-2(0)| IV IIL—VEMEL 111.0 2983
1 2.6mm(20mz %) m2 0.400
4421 |[#£5-9-24)|Z7FL—IL—VERHME L 111.0 2564
1 2.6mm(20mEA F 35mA ) m2 0.400
4422 |#£5-9-2)|Z7FL—IL—VEHMELE 111.0 2566
1 2.6mm(35mLL F45mELTR) m2 0.400
4424 | #£5-9-2(0)| NIV IIL—VEMEF L 94.0 2983
1 3.2mm(20mR ) m2 0.400
4425 |#£5-9-24)|Z7FL—IL—VEHMELE 94.0 2564
1 3.2mm(20mEA F 35mA ) m2 0.400
4426 |#£5-9-24)|Z7FL—IL—VEHELE 94.0 2566
1 3.2mm(35mEL E45mELTR) m2 0.400
4428 | #£5-9-2()| IV IIL—VEMEF L 79.0 2983
1 4.0mm(20mK5i) m2 0.400
4429 |#£5-9-24)|ZT7FL—IL—VEHELE 79.0 2564
1 4.0mm(20mLL F35mE ) m2 0.400
4430 |#£5-9-24)|Z7FL—riIL—VEHELE 79.0 2566
1 4.0mm(35mEA E45mELTR) m2 0.400
4432 | #£5-9-2(0)| VI IL—VEMEF L 63.0 2983
1 5.0mm(20mR#) m2 0.400
4433 |#£5-9-24)|Z7FL—IL—VEHMELE 63.0 2564
1 5.0mm(20m LA _E35m=E ) m2 0.400
4434 | #£5-9-24)|Z7TL—rIL—BME L 63.0 2566
1 5.0mm(35mEA F45mELTR) m2 0.400
4436 |#£5-9-24)|BHT—TILIL—VEMEFL 111.0 4099
1 2.6mm X 50mm X 50mm m2 1.000
4437 | #£5-9-24)|BHT—TIIL—VEMEF L 94.0 4099
1 3.2mm X 50mm X 50mm m2 1.000
4438 | #£5-9-2(4)|EHT—TINIL—VEMEFL 79.0 4099
1 4.0mm X 50mm X 50mm m2 1.000
4439 |#£5-9-24)|BHT—TINIL—VEMEFL 63.0 4099
1 5.0mm X 50mm X 50mm m2 1.000




& #

S a-FNo 4 (i 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) s
No. HEE#H 557) % BT 1 2 & 4 5 6 7 8 9 10
4441 06-7(2)|[L—T7 > h—KE 13.0 -5 1000
2 P=v:2 9551 X 5.000] 11.000
4442 06-7(2) | PIRFA T H—%E 240 5
1 T A X 5.000
4443 | 4£5-9-205)[#AL TV H—KE 13.0 5
1 T A 2 5.000
4444 06-7(2)|TRT7 U Hh—HKRE 22.0 5
1 T A X 5.000
4445 06-7(2)|Ev 7o h—HKE 125.0 5
1 + N 5.000
4446 | 4#£5-9-2(6)|av Y )— T h—FHE 1.0 5 2
2 m3 1.000 0.400
4448 | #5-9-20)| AR b FE (EAR) 1.0 5
1 IS LA X 0.900
4449 | #5-9-20)| R bR (EAR) 1.0 2
1 AL m3 0.400
4450 | #5-9-202)| Ry AE (EAR) HEHI 1.0 -5 1000
2 #RAa(1)B, #&kA(I) m3 2.5600] 10.000
4451 | #5-9-2m2) | Ry AE (AR HEHI 1.0 5
1 T m3 1.000
4452 | #£5-9-2(8)| R wbZH(EVCR) 6.0 -5 1000
2 WERT7H—ERE 2 5.000] 11.000
4453 | #£5-9-2(9)| R b (EVPRK) 1.0 5 2
2 TWRT7H—ERE m3 1.000 0.400
4454 | #5-9-2010)| Ry wbZE(EV D) 20.0 24 5
2 L -EA 2 1.000 6.000
4456 | ss-0-2sz)|BHT—TIIL—UERERE 1.0 -6 -2 1000
3 H 20.000] 20.000 8.000
4458 |HS5-11(1)|THFR/SURARLBERET 10.0 24 2 4087
3 )\jﬂfiﬁl ??EE_.%%BGWOG m2 0.050 2.110 0.160
4459 | HS5-11(1)|THFR/SURARLBEEET 10.0 24 2 4087
3 ADBET HEEEEGWO9 m2 0.050 2.850 0.240
4460 |HS-11(1)|THFR/ISURARLBERET 10.0 24 2 4087
3 ADBET HEEEEIGWI2 m2 0.050 3.690 0.320
4461 |HS-11(1)|THFR/SURARLBEEET 10.0 24 2 4087
3 ADBET EBEEGW06 m2 0.100 2.440 0.160
4462 |HS-11(1)|THFR/ISURARLBERET 10.0 24 2 4087
3 ADBET EBEEGW09 m2 0.100 3.180 0.240
4463 |HES-11(1)|THFR/ISURARLBEEET 10.0 24 2 4087
3 ANDfET EBEEHCGWI2 m2 0.100 3.820 0.320
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a2y

a2-FNo

% i)

fEM

FRISEMES TRIESH (

AERENRIEBICFEMEFSC-12M4T)

No. HEHK #H % =X (v 1 2 3 4 5 6 7 8 9 10 E
4465 |$5-1102)|THR/ISURARLHEEET 10.0 24 2 4166 4087
4 BT BEREERGWO6 m2 0.050 1.370 0.150 0.160
4466 |$5-1102)|THR/ISURARLHEEET 10.0 24 2 4166 4087
4 BT BEREERGWO9 m2 0.050 1.740 0.230 0.240
4467 |H5-1102)|THR/ISURARLHEEET 10.0 24 2 4166 4087
4 BT BEREERGW 12 m2 0.050 2110 0.300 0.320
4468 |45-11(02)|THR/ISURAR L HEEET 10.0 24 2 4166 4087
4 T HEEEEGW06 m2 0.100 1.700 0.150 0.160
4469 |H5-1102)|THR/ISURAR L HEEET 10.0 24 2 4166 4087
4 M T EREERGW09 m2 0.100 2.070 0.230 0.240
4470 |45-1102)|THFR/ISURAR L HEEET 10.0 24 2 4166 4087
4 BT HEEEEGWI2 m2 0.100 2.340 0.300 0.320
4472 106-11(4)D|ComnITHE (ME45em) 10.0 24 1 2 878 4022
5 RSO OB SAI8) ) 53— LIRD RO ), G S m 0.080 0.240 0.400] 10.000 1.000
4473 106-11(4)D|ComnITHE (ME60cm) 10.0 24 1 2 881 4022
5 RSO OB SAI8) ) 535 LIRD RO ), B2 TSR m 0.140 0.420 0.700] 10.000 1.800
4474 [06-11(4)D|LEATITA 10.0 2 2629 2633 2635
4 HAAFOIemEK1.5m & 0.600 0.120] 15.000] 15.000
4478 | 06-11(15) |54 EE T M#8(4mm)#BE 13cm)] 1.0 2870 24 1 2 4022
5 s 6012050 it Fﬁ 1.000 0.010 0.010 0.040 0.060
4479 | 06-11(15) |5 risp R EE T M#8(4mm)#BE 13cm) 1.0 2871 24 1 2 4022
5 L8087 0 453 O R . 50120 0GRS ) Eil3i8 1.000 0.010 0.020 0.070 0.110
4480 | 06-11(15)|sM ek AR 45 F g8 T [#6(5mm)#EE 13om) 1.0 2872 2 4022
3 L8087 0 453 O R 1005 20 en GRS ) il 1.000 0.080 0.050
4481 | 06-11(15) oM AR 45 F g8 T [#6(5mm)#EE 13om) 1.0 2873 2 4022
3 T, Eil3i8 1.000 0.150 0.100
4483 | #£5-17-1(6) | KB ALADTTA(H8mm, EH5 b 16mm) 1.0 24 2 2875 4029
4 @8 130m, #1.0x 1815 x £20m(GEH2.85m3/K3R) N 0.120 0.930 1.000 1.440
4484 | #5-17-1(6) | KB ALADTTA(H8mm, E45 b 16mm) 1.0 24 2 2876 4029
4 B 130m. B1.0x181.5x £3.0m(GH4.28m3/A51%) Z 0.180 1.400 1.000 2.160
4485 | #£5-17-1(6) | KB ALADTTA(H8mm. EH5 b 16mm) 1.0 24 2 2877 4029
4 @8 130m, 1.0 1815 X £4.0m(GEE5.70m3/K3R) N 0.240 1.860 1.000 2.880
4486 | #£5-17-1(6) | KB ALADTTA(H8mm, EH5 b 16mm) 1.0 24 2 2878 4029
4 @8 130m, #1.0x 1815 £50mGEAT.13m3/K3R) N 0.300 2.330 1.000 3.600
4487 | #£5-17-1(6) | KB ALADTTA(H8mm. E45 d 16mm) 1.0 24 2 2879 4029
4 @8 130m, 1.0 182.0 X £2.0m(G5753.80m3/ K 3R) Z: 0.160 1.240 1.000 1.920
4488 | #5-17-1(6) | KB ALAHTTA(H8mm, EH5 b 16mm) 1.0 24 2 2880 4029
4 @8 130m, 1.0 182.0 X £3.0m(GEE5.70m3/ K RR) N 0.240 1.860 1.000 2.880
4489 | #£5-17-1(6) | KB ALAHTTA(H8mm. E45 b 16mm) 1.0 24 2 2881 4029
4 B 130m, B1.0x182.0 X £4.0m(H7.60m3/AB1%) Z 0.320 2.480 1.000 3.840
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4490 | #5-17-1(8) | KB ALADTTA(H8mm. E45 b 16mm) 1.0 24 2 2882 4029
4 @8 130m, 1.0 X 182.0 X £5.0m(GEH9.50m3/ K RR) N 0.400 3.100 1.000] 4.800

4491 | #£5-17-2(6) [ KB 5 EADTIB( P 8mm, 5 b 16mm) 1.0 24 2 2875 4014
4 @8 130m, #1.0x 1815 X £20m(GEH2.85m3/KRR) N 0.210 1.410 1.000 2.280

4492 | £5-17-2(6) | KB 5 EAMTIB( P 8mm, 5 b 16mm) 1.0 24 2 2876 4014
4 @8 130m, #1.0x 1815 x £3.0m(GEH4.28m3/ K 3R) Z: 0.320 2.120 1.000 3.420

4493 | 4£5-17-2(6) [ KB 5 EAHTIB( P 8mm, 55 b 16mm) 1.0 24 2 2877 4014
4 @8 130m, 1.0 1815 x £4.0m(GEE5.70m3/K3R) N 0.420 2.820 1.000] 4560

4494 | 3£5-17-2(6) [ KB 5 EADTIB( P 8mm, 5 b 16mm) 1.0 24 2 2878 4014
4 8E 130m, #1.0X #81.5 X £5.0m(EH7.13m3/A51) R 0.530 3.530 1.000 5.700

4495 | £5-17-2(6) [ KB 5 LAHTIB( P 8mm, 5 b 16mm) 1.0 24 2 2879 4014
4 @8 130m, 1.0 182.0 X £2.0m(G5753.80m3/ K 3R) N 0.280 1.880 1.000 3.040

4496 | 1£5-17-2(6) [ KB 5 EADTIB(P8mm, 55 b 16mm) 1.0 24 2 2880 4014
4 @8 130m, 1.0 182.0 X £3.0m(GEHE5.70m3/K3R) Z: 0.420 2.820 1.000] 4560

4497 | £5-17-2(6) | KB 5 EADTIB( P 8mm, 55 b 16mm) 1.0 24 2 2881 4014
4 @8 130m, 1.0 182.0 X £4.0m(GEA7.60m3/KRR) N 0.560 3.760 1.000 6.080

4498 | 1£5-17-2(6) [ KB 5 EAMTIB( P 8mm, 5 b 16mm) 1.0 24 2 2882 4014
4 @8 130m, 1.0 X 182.0 X £5.0m(GEH9.50m3/ K 3R) N 0.700{ 4700 1.000 7.600

4500 | 06-11(5) (M IEMZE (SEANTA) 1.0 2638
1 2 10mm (& & A8Ah) m2 1.070

4508 | 051150, 051600 ZESEANS TOHEHREE) ¢ 4mn 48E 13cm 1.0 2 4022 2640 2683 EAE1.2m3
4 50cm X 120cm X 2m=F53E (3k1.2m3/ABI#) N 0.210f 0.060 1.000] 2.200

4509 | 5110 0611600 ZESEANS TOHEHREE) ¢ 4mn $8E 13cm 1.0 2 4022 2641 2683 EAE1.8m3
4 50cm X 120cm X 3m=F53E (3k1.8m3/AB#) Z: 0.310f 0.900 1.000] 2.700

4510 | o510 0611600 ZESEANS TOHEMFEE) ¢ 4mn #8E 13cm 1.0 2 4022 2642 2683 EAE24m3
4 50cm X 120cm X 4m=F53 (352 4m3/ A BI#) N 0.400{ 0.120 1.000] 3.200

4512 | os-rim. 0611600 ZESEANS TOHEHREE) ¢ 4mn 48E 13cm 1.0 2 4022 2640 2683 EAE1.2m3
4 50cm x 120cm X 2mPuF53E (zk1.2m3/ A BI#) N 0.210f 0.060 1.000] 3.200

45183 | os-11m. 0611600 ZESEANS TOHEHFEE) ¢ 4mn 48E 13cm 1.0 2 4022 2641 2683 EAE1.8m3
4 50cm X 120cm X 3mPA A3 (R &k 1.8m3/A5#) X 0.310{ 0.090 1.000] 4.200

4514 | os-rim. 061160 ZESEANS TOHEHFEE) ¢ 4mn 48E 13cm 1.0 2 4022 2642 2683 EAE24m3
4 50cm X 120cm X 4mPuF53E (3E2 4m3/ A BI#) N 0.400{ 0.120 1.000] 5.200

4516 | 51150 0611600 ZESEANS TOHEMFEE) ¢ 4mn 48E 13cm 1.0 2 4022 2643 2683 FA=1.44m3
4 60cm x 120cn X 2m= %535 (31 44m3/ A F5%) N 0.240{ 0.070 1.000] 2.200

4517 | os-r1m. 0611600 ZESEANS TOHEMFEE) ¢ 4mn 48E 13cm 1.0 2 4022 2644 2683 FEH=2.16m3
4 60cm x 120cn X 3m= %535 (h3£2.16m3/ A F5%) Z: 0.350f 0.110 1.000] 2.700

4518 | 51150, 0611600 ZESEANS TOHEMFEE) ¢ 4mn 48E 13cm 1.0 2 4022 2645 2683 FEH=2.88m3
4 60cm x 120cn X 4m= 453 (1 3£2.88m3/ A F5%) N 0.450{ 0.140 1.000] 3.200

4520 | o510 0611600 ZESEANS TOHEHFEE) ¢ 4mn $8E 13cm 1.0 2 4022 2643 2683 FA=1.44m3
4 60cm X 120cm X 2P 7535 (54 1.44m3/ AR 54) X 0.240 0.070 1.000 3.200
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4521 | os-rim. 0611600 ZESEANS TOHEHREE) ¢ 4mn 48E 13cm 1.0 2 4022 2644 2683 EAR=2.16m3
4 60cm x 120cn X 3mPA %53 (F5E2.16m3/ A F5%) X 0.350 0.110 1.000 4.200

4522 | os-rim. 061160 ZESEANS TOHEHREE) ¢ 4mn $8E 13cm 1.0 2 4022 2645 2683 EAR=2.88m3
4 60cm x 120cn X 4mPa %53 (352.88m3/ A F5k) X 0.450 0.140 1.000 5.200

4524 | oo 1im 06-n160| ZEAEAMST(ANHEE) ¢ 4mm 4B 130m 1.0 2 2640 2683 EAE1.2m3
3 50cm X 120cm X 2m= F538 (F31.2m3/A5:#) X 0.420 1.000] 2.200

4525 | o611 061160 Z B SEAMST(ANHEE) ¢ 4mm 48 130m 1.0 2 2641 2683 EA=1.8m3
3 50cm X 120cm X 3m= 7738 (3 1.8m3/A5#) X 0.610 1.000f 2.700

4526 | o511 0611600 Z B SEAMST(ANHEE) ¢ 4mm B 130m 1.0 2 2642 2683 EAE2.4m3
3 50cm X 120cm X 4m= F53 (32 4m3/A5A) X 0.800 1.000{ 3.200

4528 | o611 061160 Z B SEAMST(ANHEE) b 4mm 8 130m 1.0 2 2640 2683 EA=E1.2m3
3 50cm X 120cm X 2mPu 53 (3 1.2m3/A5#) X 0.420 1.000] 3.200

4529 | o611 061600 Z B SEAMST(ANHEE) ¢ 4mm 4B 130m 1.0 2 2641 2683 EA=1.8m3
3 50cm X 120cm X 3mPu A3 (3 1.8m3/A5#) X 0.610 1.000] 4.200

4530 | 061150 0611600 =B SEAMST(ANHEE) ¢ 4mm 4B 130m 1.0 2 2642 2683 EAE2.4m3
3 50cm X 120cm X 4mPuF53E (352 4m3/A5#) X 0.800 1.000 5.200

4532 | o511 0611600 Z B AEAMST(ANHEE) ¢ 4mm 4B 130m 1.0 2 2643 2683 #EA=1.44m3
3 60cm X 120cm X 2m= 7536 (154 1.44m3/ A 34) N 0.480 1.000] 2200

4533 | o611 0611600 Z B AEAMST(ANHEE) ¢ 4mm 48 130m 1.0 2 2644 2683 FEAE2.16m3
3 60cm X 120cm X 3m= 7535 (1552.16m3/ A BR) R 0.710 1.000] 2.700

4534 | o511 0611600 Z B SEAMST(ANHEE) ¢ 4mm B 130m 1.0 2 2645 2683 ZEA=2.88m3
3 60cm X 120cm X 4m= 7536 (1 552.88m3/ A l34) N 0.940 1.000] 3.200

4536 | 051150 061160 Z B SEAMST(AAHEE) ¢ 4mm 4B 130m 1.0 2 2643 2683 ZEA=1.44m3
3 60cm X 120cm X 2mPO 7536 (54 1.44m3/ A 5%) Z: 0.480 1.000] 3.200

4537 | o611 061160 B SEAMST(ANHEE) ¢ 4mm 48 130m 1.0 2 2644 2683 EAE2.16m3
3 60cm X 120cm X 3mPO 7536 (1 552.16m3/ A 53) X 0.710 1.000{ 4.200

4538 | o611 061160 Z B SEAMST(ANHEE) b 4mm 8 130m 1.0 2 2645 2683 EA=2.88m3
3 60cm X 120cm X 4mPO 753 (1 552.88m3/ A Hl34) N 0.940 1.000] 5.200

4540 [06-11(8)D|[KEA&ANZ (M) P 5mm #88 13cm 1.0 2 4022 2648 EAE3.8m3
3 #100cm X 1§200cm X £2m (& H3.8m3/ ABI:%) X 0.600 0.380 1.000

4541 [06-11(8)D [ KEA&ANZ (M) P 5mm #B8 13cm 1.0 2 4022 2649 EAE5.7m3
3 #100cm X 1§200cm X £3m GEHE.7m3/AZ:) X 0.900 0.570 1.000

4543 [06-11(8)Q| KB 5EAMTI(AA) ¢ 5mm #BE 13cm 1.0 2 2648 =R E3.8m3
2 #100cn X #§200cn X £2m (5% 3.8m3/ A 5%) X 1.360 1.000

4544 |06-11(8)Q| KB 5EAMTI(AA) ¢ 5mm #BE 13cm 1.0 2 2649 EAE5.7m3
2 #1000m X #8200cn X £3m (5 Tm3/A5R) Z: 2.040 1.000

4546 [06-11(9)D KB =E 5 AN T (M) ¢ 5nn #8E 13cm 1.0 2 4022 2648 2683 EAE4.0m3
4 #100cm X #§200cm X & 2mP 53 (P i4.0m3/ A BlR) X 0.720 0.200 1.000 8.000

4547 [06-11(9)D [kE=E5EANST(HH) ¢ 5nn #8E 13cm 1.0 2 4022 2649 2683 EAE6.0m3
4 %100cm X 18200cm X £ 3m P38 (h356.0m3/ A 518) Z 1.080 0.300 1.000] 10.000
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4548 [06-11(9)Q| kBB 5EANTTI(AN) G 5mm $EE13cm 1.0 2 2648 2683 FH=24.0m3
3 #100cm X #§200cm X & 2mP 53 (P 4.0m3/ A Bl%) X 1.400 1.000 8.000

4549 [06-11(9)Q| kBB 5EANZT(AN) G5 $EE13cm 1.0 2 2649 2683 FEH=26.0m3
3 #100cm X #8200cm X £ 3mP 53 (P 556.0m3/ A Bli%) X 2.100 1.000/ 10.000

4551 |06-11(10)| AEIE&ET o 4mm #BE13cm 1.0 2651 2 4166 #FH=20.65m3
3 ER0.6mMA(EH0.65m3/ERIR) & 1.000 0.130 0.070

4552 | 06-11(10)| AEIEET o 4mm #BE13cm 1.0 2652 2 4166 #FH6=20.58m3
3 E20.8mA (G5EH0.58m3 /@A) & 1.000f 0.110] 0.060

4553 | 06-11(10)| A&EET ¢ 4mm #BE13cm 1.0 2653 2 4166 SERE1.10m3
3 EZ1.0mAGER.10m3/{ERR) | (@ 1.000] 0210] 0110

4554 | 06-11(10)| AEUEET o 4mm #BE13cm 1.0 2654 2 4166 FEH=1.16m3
3 ER1.2mAGER1.16m3/ER&) & 1.000 0.220 0.120

4555 |06-11(10)| ABIEET ¢ 4mm #BE13cm 1.0 2655 2 4166 FEH=1.10m3
3 EER1.35mAGER1.10m3/ER&) & 1.000 0.210 0.110

4556 |06-11(10)| ABIEET ¢ 4mm #BE13cm 1.0 2656 2 4166 FA=1.14m3
3 ER15mAGEGERT.14m3/ERE) & 1.000 0.210 0.110

4557 |06-11(10)| AEIEET ¢ 4mm #BE13cm 1.0 2657 2 4166 FH=191m3
3 ER1.75mAGER1.91m3/ERE) & 1.000 0.360 0.190

4558 |06-11(10)| ABIEET o 4mm #BE13cm 1.0 2658 2 4166 FEH=1.98m3
3 E1%2.0mA(GER1.98m3/{ERR) | (@ 1.000] 0370] 0200

4559 | 06-11(10)| ABIEET o 4mm #BE13cm 1.0 2659 2 4166 FEH=2.76m3
3 BER25mAGER2.76m3/ER&) & 1.000 0.5620 0.260

4560 |06-11(10)| AEIEET o 4mm #BE13cm 1.0 2660 2 4166 FEH=22.98m3
3 EZ3.0mAGER2.98m3/ERI&) & 1.000 0.5660 0.300

4561 |06-11(10)| ABIEET o 4mm #BE13cm 1.0 2661 2 4166 FEH=24.28m3
3 EZ3.5mA(GER4.28m3/ERE) & 1.000 0.800 0.430

4562 |06-11(10)| AEIEET o 4mm #BE13cm 1.0 2662 2 4166 FEH=4.10m3
3 EZ4.0mAGER4.10m3/fERIH) & 1.000f 0.760] 0.410

4564 [06-11(10)|BRET((T7—FA) ¢4mn BE13cm 1.0 2664 2 4166 FEH=1.55m3
3 $2.0m xR1.56mA(GEHE 1.55m3/fE3I5%) @ 1.000 0.290 0.160

4565 [06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2665 2 4166 FEH=1.76m3
3 $2.0mxR1.6mB(GEH1.76m3 /@RI #&) & 1.000) 0.330] 0.180

4566 |[06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2666 2 4166 FEH=22.05m3
3 52.3m xR1.65mA (&F2.05m3/fE5I5%) & 1.000f 0.390] 0.210

4567 [06-11(10)|BRET(T7—FA) ¢4mn BE13cm 1.0 2667 2 4166 FEH=158m3
3 $2.3m xR1.65mB (554 1.58m3/fEBI&) & 1.000f 0.300] 0.160

4568 |[06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2668 2 4166 FEH=2.00m3
3 82.7mxR1.8mA (552.00m3/{EBl%) & 1.000f 0.370] 0.200

4569 [06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2669 2 4166 FEH=253m3
3 S2.7mxR1.8mB(5EH2.53m3/{ER%) @ 1.000 0.470 0.250
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4570 [06-11(10)|BRET(T7—FA) ¢4mn BE13cm 1.0 2670 2 4166 FEH=2.55m3
3 $3.0m xR1.95mA (G&F2.565m3/f@5I5%) & 1.000 0.480 0.260

4571 [06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2671 2 4166 FEH=22.05m3
3 $3.0m xR1.95mB (55%2.05m3/fERI&) & 1.000 0.390 0.210

4572 [06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2672 2 4166 FH=23.11m3
3 §3.7m xR2.25mA (G&F3.11m3/{ERI5%) & 1.000 0.580 0.310

4573 [06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2673 2 4166 FH=2291m3
3 $3.7m xR2.25mB (3542.91m3/fEBI&) & 1.000 0.540 0.290

4574 [06-11(10)|BRET((T7—FA) ¢4mn BB 13cm 1.0 2674 2 4166 FEH=352m3
3 $4.4m X R2.6mA (5575 3.52m3/fE3I%) @ 1.000 0.650 0.350

4575 [06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2675 2 4166 FEH2262m3
3 S4.4mxR2.6mB(5£H2.62m3/{BH%) & 1.000] 0.490] 0.260

4576 [06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2676 2 4166 FEH=24.13m3
3 85.1m xR2.9mA (G55 4.13m3/{ABI:%) & 1.000 0.770 0.410

4577 |[06-11(10)|BRET(T7—FA) ¢4mn BB 13cm 1.0 2677 2 4166 FH=3.22m3
3 S5.1mx R2.9mB (55 3.22m3/{@BI%) & 1.000] 0.600] 0.320

4578 [06-11(10)|BRET(T7—FA) ¢4mn BE13cm 1.0 2678 2 4166 FEA=2529m3
3 85.8m x R3.2mA (557 5.29m3/{EBI:%) & 1.000 0.990 0.530

4579 [06-11(10)|BRET(T7—FA) ¢4mn BE13cm 1.0 2679 2 4166 FEH=3.82m3
3 S5.8mxR3.2mB (555 3.82m3/ {@5I:%) @ 1.000 0.710 0.380

4581 |06-11(11)|ZEBEET ¢ 4mn #BE13cm 1.0 2651 2683 2 4166 #FH=20.72m3
4 ER0.6mAGER0.72m3/ERIE) & 1.000 3.900 0.160 0.040

4582 |06-11(11)|ZEHEET ¢4mm #BE13cm 1.0 2652 2683 2 4166 #EH=20.65m3
4 E20.8mMA (EEH0.65m3/ERI&) & 1.000 3.800 0.140 0.030

4583 |06-11(11)|ZEHEET ¢4mn #BE13cm 1.0 2653 2683 2 4166 FEH=1.16m3
4 ER1.0mAGEGERT.16m3 /@R & 1.000 5.300 0.260 0.060

4584 | 06-11(11)|ZEHEET ¢ 4mm #BE13cm 1.0 2654 2683 2 4166 FA=1.22m3
4 ER1.2mAGEGER1.22m3/ER&) & 1.000 5.600 0.260 0.060

4585 |06-11(11)|ZEHEET ¢4mm #BE13cm 1.0 2655 2683 2 4166 FEH=1.16m3
4 E1%1.35mMA (GEA1.16m3/fARBI%) 1 1.000] 5400/ 0.260[ 0.060

4586 |06-11(11)|ZEHEET ¢4mm #BE13cm 1.0 2656 2683 2 4166 FEH=1.20m3
4 ER1.5mAGER1.20m3 /@R & 1.000 5.600 0.260 0.060

4587 |06-11(11)|ZEBEET ¢4mm #BE13cm 1.0 2657 2683 2 4166 FH=2201m3
4 ER1.75mAGER2.01m3/ER&) & 1.000 7.900 0.460 0.110

4588 |06-11(11)|ZEHEET ¢4mm #BE13cm 1.0 2658 2683 2 4166 FEH=22.08m3
4 ER2.0mAGER2.08m3/ERIE) & 1.000 7.900 0.460 0.100

4589 |06-11(11)|ZEHEET ¢4mn #BE13cm 1.0 2659 2683 2 4166 FH=2291m3
4 ER25mAGEGER2.91m3/ER&) & 1.000] 10.000 0.640 0.150

4590 |06-11(11)|ZEBEET ¢4mm #BE13cm 1.0 2660 2683 2 4166 FEH=3.14m3
4 |EE3omAGERSI4M3/ERR | @ 1.000f 10.800] 0690 0.160
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4591 |06-11(11)|ZEARET o 4mm #BE13cm 1.0 2661 2683 2 4166 FEH=2451m3
4 ER35MAGER4L.51m3 /AR & 1.000] 13.800 0.990 0.230

4592 |06-11(11)|ZEARET o 4mm #BE13cm 1.0 2662 2683 2 4166 FEH=24.32m3
4 BER4.0mAGER4.32m3/ER&) & 1.000] 13.900 0.950 0.220

4594 [ 06-11(11)|=EBRET( AT 7—FF) d 4 88 13cm 1.0 2664 2683 2 4166 FEH=1.63m3
4 82.0mxR1.5mA (& 1.63m3/{EBl%) & 1.000f 6.800] 0.360] 0.080

4595 [06-11(11)|=EBRET( AT 7—FF)d 4 8E13cm 1.0 2665 2683 2 4166 FEH=1.85m3
4 $2.0mxR1.5mB(Fh&E1.85m3/{@HI%) & 1.000] 7.200f 0.400{ 0.090

4596 [06-11(11)|=EBRET( AT 7—FF)d 4 88 13cm 1.0 2666 2683 2 4166 FEH=2.16m3
4 |82.3mxR1.65mA(hEE2. 16m3/{EBI%) 1 1.000] 8.300] 0.480f 0.110

4597 [06-11(11)|=EBRET( AT 7—FF) d 4 82 13cm 1.0 2667 2683 2 4166 FEH=1.66m3
4 $2.3m xR1.65mB(sh5%1.66m3/ 314 ) & 1.000] 6.900] 0.360f 0.080

4598 [06-11(11)|=EBRET( AT 7—FF) d 4 88 13cm 1.0 2668 2683 2 4166 FEH=2.10m3
4 82.7mxR1.8mA (Fh&E2.10m3/{EBl%) & 1.000f 8.200] 0460] 0.110

4599 [06-11(11)|=EBRET( AT 7—FF) b 4 EE13cm 1.0 2669 2683 2 4166 FEH=22.66m3
4 S2.7mxR1.8mB(FhE2.66m3/{EBI%) & 1.000] 9.300f 0.680 0.130

4600 [06-11(11)|=EBRET( AT 7—FF) b 4 EE13cm 1.0 2670 2683 2 4166 FEH=22.68m3
4 $3.0m xR1.95mA (FhE£2.68m3/fE5I5%) & 1.000f 9.800] 0.580] 0.130

4601 [06-11(11)|=EBRET( AT 7—FF) d 4 #8E13cm 1.0 2671 2683 2 4166 FEH=2.16m3
4 |S3.0mxR1.95mB(eik2 16m3/{ERIR) ] 1000/ 8.300] 0480/ 0.110

4602 [06-11(11)|=BEBRET( AT 7—FA)d 4 8 13cm 1.0 2672 2683 2 4166 FH=3.27m3
4 $3.7m X R2.25mA (d153.27m3 /{EIRI%) & 1.000] 11.300f 0.720f 0.160

4603 [06-11(11)|=EBRET( AT 7—FF) b 4 8E13cm 1.0 2673 2683 2 4166 #EH=3.06m3
4 $3.7m x R2.25mB (#h543.06m3/ 314 ) & 1.000| 10.500/ 0.670f 0.150

4604 [06-11(11)|=EBRET( AT 7—FF)d 4 8E13cm 1.0 2674 2683 2 4166 FEH=3.70m3
4 S4.4m X R2.6mA (s 5£3.70m3/f@515%) & 1.000| 12500/ 0.810f 0.190

4605 [06-11(11)|=EBRET( AT 7—FF) b4 EE13cm 1.0 2675 2683 2 4166 FEH=2.76m3
4 S4.4mxR2.6mB(FhEE2.76m3/ {EBI%) & 1.000| 10.200|f 0.600f 0.140

4606 [06-11(11)|=EBRET( AT 7—FF) b4 8E13cm 1.0 2676 2683 2 4166 FEH=4.35m3
4 $5.1m X R2.9mA (Fh5E4.35m3/ fE5I5%) @ 1.000f 13.100 0.950 0.220

4607 [06-11(11)|=EBRET( AT 7—FF)d 4 8E13cm 1.0 2677 2683 2 4166 FEH=3.39m3
4 86.1m % R2.9mB(35%3.39m3/{E Bl &) & 1.000| 11.800f 0.740f 0.170

4608 [06-11(11)|=EBRET( AT 7—FF) b 4 #EE13cm 1.0 2678 2683 2 4166 FEH=557m3
4 $5.8m X R3.2mA (s 55.57m3/f@H1%) & 1.000| 16.700f 1.220f 0.280

4609 [06-11(11)|=EBRET( AT 7—FF)d 4 EE13cm 1.0 2679 2683 2 4166 FA=24.02m3
4 $5.8mx R3.2mB(Fh&£4.02m3/{BRI%) & 1.000| 13.600/ 0.880f 0.200

4611 |#£5-16(4) [ HAIHI(FERIMEER® 10.0 =24 -1 -2 4014 1000
5 =50cm X 1@80cm m 0.170 0.190 0.5680 1.410 4.000

4612 |#£5-16(4) [AIHI(EDIMEER® 10.0 =24 -1 -2 4014 1000
5 %500mx¢§800m m 0.110 0.120 0.380 1.280| 13.000
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4613 |#£5-16(4) (A IHIT(FERIMEER® 10.0 -24 -1 -2 4014 1000
5 =50cm X 1&120cm m 0.240 0.260 0.820 1.860 3.000

4614 |#£5-16(4) [HAIHI(EDIMEER® 10.0 -24 -1 -2 4014 1000
5 =50cm X 1&120cm m 0.150 0.160 0.510 1.670] 14.000

4616 06-12(1)|£N>FET 10.0 2681 2
2 m2 200.000 4.200

4617 06-12(2)|£n>T 10.0 2681 2 1.0m2EKFEDIGE
2 % 10.000 0.210

4618 |06-12(1)-(3)| ZDSFELT+HHET 10.0 2681 2
2 m2 200.000 5.000

4619 [06-12(2)-()| DS +HIHETL 10.0 2681 2 1.0m2KHDHZE
2 % 10.000 0.250

4630 (FTTRUEARITT)

4631 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 60mmL FHE1.2m X 0.400

4632 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 60mmEBZI0mmL FHE1.2m X 0.600

4633 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 @ 60mmEBZ90mmLL R & 1.6m N 0.900

4634 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 60mmEBZ90mmL FHLEK 1.8m X 1.200

4635 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 90mm#BZ 1 20mmA FHLE1.2m X 0.800

4636 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 90mm#BZ 1 20mmA FAi&E1.5m X 1.300

4637 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 @ 90mm#BZ 1 20mmA FAi&E1.8m X 2.200

4638 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 @ 90mmiEB 2 120mmLL RAT&K2.1m N 3.600

4639 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 90mm#BZ 1 20mmA FHLE2.4m X 4.700

4640 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 120mmEB Z 150mmA FHf&K1.5m X 1.900

4641 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 120mmEB Z150mmA FHf&K1.8m X 2.300

4642 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 ¢ 120mmiBZ 150mmLL FHE2.1m X 5.700

4643 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%
1 @ 120mmEB 2 150mmL R & 2.4m N 6.900
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4644 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%

1 ¢ 120mmiBZ 150mmLL FHE2.7m X 8.000
4645 H6-1-2|MITT(AH) 10.0 2 HBAEL0-100%

1 ¢ 120mmiEB % 150mmA FH#&£3.0m X 10.900
4647 H6-1-3| Kt 10.0 2

1 ¢ 90mmL FHE1.5m X 0.290
4648 H6-1-3| Kt 10.0 2

1 ¢ 90mmLL FHr &£ 3.0m X 0.320
4649 H6-1-3| Kt 10.0 2

1 $ 90mmLL FHr&£4.0m N 0.330
4650 H6-1-3| Kt 10.0 2

1 ¢ 90mmLL FH1&£5.0m X 0.340
4652 H6-1-3| Kt 10.0 2

1 ¢ 90mm#BZ 1 20mmA FAi&E1.5m X 0.360
4653 H6-1-3| Kt 10.0 2

1 ¢ 90mm#BZ120mmLL FHT&E3m X 0.420
4654 H6-1-3| Kt 10.0 2

1 ¢ 90mm#BZ120mmL FHr&E4m X 0.630
4655 H6-1-3| Kt 10.0 2

1 @ 90mmiEB Z.120mmLL R4 £ 5m N 0.770
4657 H6-1-3| Kt 10.0 2

1 ¢ 120mmEB Z 1 50mmA FHf&K1.5m X 0.440
4658 H6-1-3| KL 10.0 2

1 ¢ 120mmiBZ 150mmLL FH&ES3m X 0.600
4659 H6-1-3| Kt 10.0 2

1 ¢ 120mmiBZ 150mLL FHi&E4m X 0.730
4660 H6-1-3| Kt 10.0 2

1 ¢ 120mmiBZ 150mmLL FHL&ESm X 0.910
4661 H6-1-3| Kt 10.0 2

1 ¢ 120mmiEB . 150mmA &K 6m i 1.120
4663 H6-1-3| Kt 10.0 2

1 ¢ 150mmiB % 180mmLA FH&ES3m X 0.770
4664 H6-1-3| Kt 10.0 2

1 ¢ 150mmiB % 180mmLA FHi&E4m X 0.900
4665 H6-1-3| Kt 10.0 2

1 ¢ 150mmiB % 180mmLA R4 &ESm X 1.100
4666 H6-1-3| Kt 10.0 2

1 ¢ 150mmiB % 180mmLA R EOm X 1.340
4667 H6-1-3| Kt 10.0 2

1 ¢ 150mmiEB Z180mmA & 7m N 1.620

26




s B - B =

S a-FNo 4 (i 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) s
No. BEH b5 % ==L 1 2 8 4 5 6 7 8 9 10
4668 H6-1-3| Kt 10.0 2

1 ¢ 150mmiB % 180mmLA R4 &ESm X 1.880
4670 H6-1-3| Kt 10.0 2

1 ¢ 180mmiBZ 210mmLA FH&ES3m X 0.990
4671 H6-1-3| Kt 10.0 2

1 ¢ 180mmiBZ 210mmLA FHiE4m X 1.120
4672 H6-1-3| Kt 10.0 2

1 ¢ 180mmiBZ 210mmLA FHL&ESm X 1.330
4673 H6-1-3| Kt 10.0 2

1 ¢ 180mmiEE % 210mmA &K 6m N 1.590
4674 H6-1-3| Kt 10.0 2

1 ¢ 180mmiBZ 210mmA FHLETm X 1.880
4675 H6-1-3| Kt 10.0 2

1 ¢ 180mmiBZ 210mmLA R4 &ESm X 2.160
4677 H6-1-3| Kt 10.0 2

1 ¢ 210mmiB % 240mmLL R4 &ES3m X 1.130
4678 H6-1-3| Kt 10.0 2

1 ¢ 210mmiB % 240mmLL R E4m X 1.320
4679 H6-1-3| Kt 10.0 2

1 ¢ 210mmiEB Z 240mmA &K 5m N 1.520
4680 H6-1-3| Kt 10.0 2

1 ¢ 210mmiB % 240mmLL FHLE6m X 1.810
4681 H6-1-3| KL 10.0 2

1 ¢ 210mmiBZ 240mmLL FHLETm X 2.130
4682 H6-1-3| Kt 10.0 2

1 ¢ 210mmiB % 240mmLL R4 ESm X 2.440
4684 H6-1-3| Kt 10.0 2

1 ¢ 240mmiB % 270mmLL R4 & S3m X 1.210
4685 H6-1-3| Kt 10.0 2

1 ¢ 240mmiEB Z 27 0mmA K 4m i 1.440
4686 H6-1-3| Kt 10.0 2

1 ¢ 240mmiB % 270mmLL R ESm X 1.660
4687 H6-1-3| Kt 10.0 2

1 ¢ 240mmiB % 270mmLA R E6m X 1.990
4688 H6-1-3| Kt 10.0 2

1 ¢ 240mmiBZ 270mmLL FHLETm X 2.320
4689 H6-1-3| Kt 10.0 2

1 ¢ 240mmiB % 270mmLA R ESm X 2.660
4690 | 07-1(N4(1)|AERFRERA (LART) 10.0 2685 2

2 5|ARFRE4910N/m m2 10.000 0.040
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4691 07-3|AHKT 100 | 2688 | 2629 | 4958 | 240 24 2
6 m 2500 0110] 0.110] 250.000] 0.450| 2.130
4692 | #£7-1-3|A®TOysET (GFIRCYMETA) | 1.0 2694 | -24 -2 1000
4 |300%750x 1,000mm m?2 1.000]  0.040| 0.300] 2000
4693 [07-1202-1)|DH /KL A HEERE 100 | 2699 2 4166 8 7.2m3R%
3 ¢ 4nm 13cn#EE60cm X 120cm m 10.000] 1.160] 0.360
4694 [07-1(2)2-2)|@5 /SR IJLFRIT - HEAF 10.0 2698 2
2 m 10.000|  0.400
4700 | 07-5(1)|AKSBEEHK T (BIEALL) 100 | 2705 2 NN
2 |As4T sEmO L m 2500  0.380 RO ELNEE
4701 | 07-5(1)| K& EHK T (RIEHY) 100 | 2705 2 4263 ERARESDEA
3 |As«T7 sEEoLAm m 2500 0380 0480
4702 | #£7-4-1|AABTQAHT) 100 | 2688 | 2629 | -24 -2 1000 | 4958 | 4960
7 |mtxmE m 0200 0120 o0.110] 0780 1.000| 0.120] 0320
4703 | #7-4-1|AABT(3EHT) 100 | 2688 | 2629 | -24 -2 1000 | 4958 | 4960
7 Bt EEONED m 0300 0120/ 0110/ 0900| 1.000| 0.120] 0420
4704 | 07-6(D|AAFFHRT 1.0 2709 2
2 |ARI(E®30~60cmAm) = 1.000|  0.330
4705 | 07-6(1|AAFFHRT 1.0 2710 2
2 |BE(EE80~100cmf) 2 1.000] 0610
4706 | 07-6(2)| ALKt 1.0 2712 2
2 P 1.000|  1.400
4707 | 07-6(3)| R ASEHERS LT 1.0 2714 2
2 |ABN(EE60~100cm) = 1.000|  0.470
4708 | 07-6(3)| L ASEIERSIET 1.0 2715 2
2 |BEI(&®R120~175cmmA) = 1.000|  0.640
4709 | 07-6(4)|%ARIE 1.0 2716 2 4166 | 4087
4 |EIE EETESE m 1.000] 0.370| 0.040| 0010
4710 | 07-6(5)7 | L AFAKRT 1.0 2718 2
2 |l-4m =S 1000 3.830
4711 | 07-6(5)7 | L AFAKRT 1.0 2719 2
2 |L-em P 1.000|  5.090
4712 | 07-6(5)7 | L AFAKRT 1.0 2720 2
2 |L-sm P 1.000|  6.230
4713 | 07-6(5)7 | L AFAKRT 1.0 2721 2
2 |L-10m P 1.000|  7.540
4715 [ v comenen | RABR T 1.0 2688 | 2629 | 225 | 2723 | 4958 | 4960 2
7 |L-15BEFER) P 0040 0204] 1400 0700] 0204| 0244] 0960
4716 J|FABRT 1.0 2688 | 2629 | 225 | 2723 | 4958 | 4960 2
7 |L-3.0m (R 2 0080 0374] 2800 1400| 0374] o0454] 1770

28




Y
H #H — E
S 3-FNo % i 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) i
No. | mE%K 8 1% Bfy 1 2 g 4 5 6 7 8 9 10 .
4727 CEREfTEHERR)
4728 |[#k2-1-4(2)|$EHHZXET 10.0 24 2
2 BaXEs H 0.500 1.500
4729 [#k2-1-4(2)|$EHHXET 10.0 24 2
2 B AR A " 0.300[ 1.100
4730 [#k2-1-4(2)|$EHHXET 10.0 24 2
2 BEAES H 0.600 2.000
4731 [#k2-1-4(2) | EHHZXET 10.0 24 2
2 2 X AR BT P4 0.500 1.700
4733 08-2(1)[sA&L /s —h( I &) 1.0 2729 24 2 4166
4 H 1.000 0.370 1.230 0.140
4735 h—T5—(FEm: 7HUL) 1.0 4728 4729 1883 @ 600mm
3 $E£600mm(—E %), X4E76.3¢ X 3,600mm H 1.000 1.000 1.000
4736 h—T5—(FEm: 7HUIL) 1.0 4728 4729 1884 ¢ 800mm
3 $E£800mm(— %), X4E76.3¢ X 4,000mm H 1.000 1.000 1.000
4737 Offifg Rz T
4739 | #3-4(4) |7rnBEaT(OL—vER. EIVETILALR) 1.0 -23 -21 -2 1000
4 IR WIS BETRIE, TES EHEEOAE =] 1.000 3.000 1.000 2.000
4740 | #3-4(4) |7rmBAT(OL—vBR, EIVEELALR) 1.0 -23 -21 -2 1000
4 — R, SR TRIUE. THEA B2 =] 1.000 3.000 1.000f 11.000
4741 | BR3-4(4)|ZEEM A BIUBELSL 1.0 2731 HAE A
1 AR (TL Iy REE)1,875ke: /k3380,/m3 m3 1.000
4742 |#3-4014)|RIBETE 1.0 21 21 2733 L2xT1/m2Rl&st
3 MEATRRE) m2 0.029 0.020 1.000
4744 M3-4(5) | HME T (VL—VERFIR) 1.0 -23 -21 1000
3 TR (AT EFS) B 1.000 5.000 3.000
4745 M3-4(5) | HME T (VL—VERFIR) 1.0 -23 -21 1000
3 BB IEEY) =] 1.000] 6.000] 3.000
4746 | #3-4(6)1)7 | BB LT (Mo s IL—ERBI®R) 1.0 -23 -21 1000
3 T X (REEESE) =] 1.000 5.000] 11.000
4747 | #3-4(6)1)7 | BB LT (Mov i IL—EHRBI®R) 1.0 -23 -21 1000
3 B X UREET) =] 1.000 6.000] 11.000
4748 | #3-46)1)1|REB LT (T —TILIL—EHBIR) 1.0 -23 -21 -2 1000
4 SRMT-FEMT - AV UREESL) =] 1.000 7.000 1.000 8.000
4749 | #3-4(6)2) | RZT (IL—EHAIR) 1.0 -23 -21 -2 1000
4 FMRAUREEL) =] 1.000 7.000 1.000 8.000
4750 M3-4(7) | R FE T (ERUZRE) 1.0 =23 -21 1000
3 (ZEHRTEERII®) H 1.000 5.000 4.000
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4751 | #3-4(8)|%E4E0H L EBRMT 1.0 23 21
2 L= BIE) #A 1.000{  3.000
4752 | #3-4011)1) | R AR AR A TR 4 - R4 1.0 -23 -21 -2 1000
4 T—=TNIL—2 (IL—EHBIR) B 1.000f 7.000] 1.000| 5.000
4753 | #k3-4(11)2) | R & AR SR (TR 4 - R4 1.0 -23 -21 -2 1000
4 T—TNILYL 3 (IL—V ERBIR) B 1.000f 7.000] 1.000| 5.000
4754 | #3-4(11)3) | RUNRIEHRE - #E 1.0 -23 -21 1000
3 (GITL—oL— B NUMEBERIR) B 1.000f 5.000| 1.000
4755 | #3-4(11)4) | NUNERERE - A 1.0 23 21
2 (Etth, SMRIBIEEFIR) =] 1.000{  4.000
4756 | #3-4(15)2) | B AR (SRR ) 1.0 503
1 EHRIZ% #® 0.330
4757 | #3-4(15)2)| IEZI# (SBFE PR T) 1.0 2628
1 EHRI3% m3 0.330
4758 | #k3-4(15)2) | BB BB - A (BBFBERAR ) | 100.0 -24 -26 -2 -4756 | -4757 | 1000
6 m2 5.000| 19.000| 13.000{ 70.500| 2.600| 7.000
4759 | #3-4(15)5) | BE VN ERB KR T) 1.0 1021
1 BEHR25% m2 0.250
4760 | #3-4(15)5)| &4 T (SRR T) 100.0 2 4759
2 m2 1.600( 110.000
4761 09-4 %&£ AT T (200 X 800mmEL ) 1.0 2
1 BHEEVEEGHERR) ® 0.140
4762 | #3-4(11)3) | RUNRIEHRE - #E 1.0 -23 -21 -2 1000
4 =TI —VEE RUNEBRI ) B 1.000f  6.000] 1.000| 5.000
4764 |#2-1-3(4)|H—RL—ILZE 100.0 2 MEEJRE
1 THEARADEASL) m 9.000
4765 |#2-1-3(4)|H—RL—ILZE 100.0 2 MEEJRE
1 IV)Y-NEA R (N D ERAH) m 17.000
4767 09-5(4) | 1T EMBBCAEE) 1.0 2736 1 2
3 BARBA S (FHERIR) m 0.090/ 0.030] 0.210
4769 | #2-1-2-6(4)| H—RL— L ZIEFTIA OB IR B 1.0 14 99 2330 670/110=6 1/6=0.2.A
3 T 0x400~600kg isdE] 0.200] 6500 1.000
4770 |#£2-1-2-5|hREXFEA(H—Kr—TIL) 100.0 -24 -2 4769 1000 MEEJRE
4 MER  E472*400~600kg x 2.800| 7.100| 25.300] 12.000
4778 (x & I)
4779 $#8-2| D5 T 10.0 978 2
2 [ 547 m2 170.000{  6.000
4780 $#8-2| DS T 10.0 978 2
2 14547 m2 340.000| 12.000
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4782 |#8-9(6)1)| KB L DS T (HfE-%B) 10.0 =24 -1 -2 985 4120 1000 MHEERE T D555 8
R R B -3.600| -3.600] -3.600| 10.000| -3.600| 4.000 5 2EIHET IR
4783 |#8-9(6)5)| K& +D5T (HE) 10.0 24 1 4121
3 fEEFEOmLI T BEBTD, S A RE (BIREHEE) IL-29tH % = 1 4400 = 1 4400 = 1 4400
4784 | #8-9(6)5)| K& +D5T (HE) 10.0 24 1 2565
3 PR 6m-20m, HEHH I AN EE (B3R EAEE) &% -13.400] -13.400( -13.400
4785 |#8-9(6)4)| KELDST (ZEB. ) 10.0 24 1 2 4119
4 fEEFEOmLI T BEBTD, S AR (BIREHEE) IL-29tH % — 8 . 6 O O — 8 6 0 O — 8 . 6 O O — 8 . 6 OO
4786 |#8-9(6)4)| KB LDST(%B. ) 10.0 24 1 2 2565
4 R E6m —20m. HEHHN AXTHER (BIRIEM) s -8.000/ -8.000{ -8.000] -8.000
4787 | £8-4-1(6)2) [/kB TR FEeEFE (DZ150mm X 14) 1.0 -1 -2514 | -2532 -99 1000 30m3/hkmE/ I OF
5 0~40m3/hak i (FEXF), RBRBHIGHA AR ER (F2REHEME)) E 01 40 1 200 1 200 26000 3000
4788 | #£8-4-1(6)2) [/k& TR FEe5#F & (O£200mm X 14) 1.0 -1 -2515 | -2533 -99 1000
5 40~120m3/hR M (HEEH), RBRBMIFHN AN RE (B2REEE)) E 01 40 1 200 1 200 38000 3000
4789 | $£8-4-1(6)2)| ks Tk F5mIzsE % (0 150mx 14, 200mx 24) 1.0 -1 -2514 | -2515 | -2585 -99 1000
6 120~450m3/hk M (FEEE). RBRBMIGFHN AN RE (B2REEE)) E 01 40 1 200 2400 1 200 66000 3000
4790 | #£8-4-1(6)2) [/kB TR FEEFE (DZ150mm X 14) 1.0 -1 -2514 | -2532 -99 1000 30m3/hkmE/hOE
5 0~40m3/hK& (BH), RBREBRISHNANED (FE2REH(M)) E 01 70 1 1 OO 1 1 OO 79000 1 OOO
4791 | #£8-4-1(6)2) [ /KB TR FEe5F 2 (O £200mm X 14) 1.0 -1 -2515 | -2533 -99 1000
5 40~120m3/hak s (H05), RERBHLIGHH AN HR (B2 REHEE)) E 01 70 1 1 OO 1 1 OO 1 1 SOOO 1 OOO
4792 | $£8-4-1(6)2)| ks T ko F5mIzs2 % (02 150mmx 14, 200mx 24) 1.0 -1 -2514 | -2515 | -2585 -99 1000
6 120~ 450m3/ A B, EBRRHILS I AHED B2RERM)] =] 0.170 1.100 2.200 1.100/ 199.000 1.000
4793 | #8-4-2(6)2) |k B LRV S EniR E (O E50m X 14) 1.0 -1 -2525 -100 1000 hag
4 0~6m3/hk 8 (HEXR), RBRTERIIHN AN HR (B2RUE(E)) E 01 40 1 1 OO 9000 1 OOOO
4794 | #£8-4-2(6)2) [/kB TR FEEFE (DZ100mm X 14) 1.0 -1 -2527 -99 1000 ViN=E>S
4 6~30m3/hki (fEXE), RHRWRFHN A ED (BE2REHEE)] E 01 40 1 1 OO 7900 1 OOOO
4795 | #8-4-2(6)2) |k B LRV S EéniR E (O E50m X 14) 1.0 -1 -2525 -100 1000 MHag
4 0~6m3/hFK & (HH). RBRERHHHN AN ER (FE2REHE(M)) E 01 70 1 1 OO 28000 8000
4796 | #£8-4-2(6)2)[/kB TR /B FE (DZ100mm X 14) 1.0 -1 -2527 -99 1000 MHag
4 §~30m3/hak i CHHE) . RIRTIC MY KD B2REA(D)] =] 0.170 1.100| 24.000 8.000
4797 | #8-4-16)3)|/KE L BKKRUTHEM - #E 1.0 24 1 2 4103 OZF100mmEL RIE/hOZE
4 AT OE150mmELE, AR EE ok gem) | AT 0.500| 0.100] 2.000] 0.500
4798 | #8-4-206)3) KB T BKRUTEMEE 1.0 24 2 NOE
2 R FOE50mm & AT 0.300| 0.500
4799 | #8-4-206)3)| KB T BKRUTEMEE 1.0 24 2 4102 NOFE
3 Ky FOE100mm, Pt AR R (o | EFT 0.500 1.000] 0.500
4800 H#8-5(3)| RIBMEKE - HE 100.0 -24 -6 -2 -2565 1000 o SV
5 FREAURMARS EHAANER (BOREEE) #m2 1.400 6.300 1.200 1.400| 34.000
4801 H#8-5(3)| RIBMEKE - HE 100.0 -24 -6 -2 -2565 1000 e SV
5 |wems gorausnormem | Hm2 1.700| 6.300] 1.600] 0.800] 32.000
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No. HEHK #H % =X (v 1 2 3 4 B 6 7 8 9 10
4802 H#8-5(3)| RIBMEKE - HE 100.0 =24 -6 -2 -2565 1000 e S A B
5 BEEMNEIS. PN AR (o) | Him2 1.400 4.100 2.500 0.800[ 35.000
4804 H8-6|Fruhur—URBET 10.0 =24 -6 -2 1000 BAREE
4 m 0.100 0.400 0.400[ 27.000
4805 [or0-#r7()|NEBETHE - BE 1.0 -2628 | -2738 1000 2
4 MEHEN. NS DHRERLRETE =] 0.026 0.016 3.000 1.5600
4807 | ot0-sm222| AHBRE 10.0 -2 1000 BHRENRE FHEHELK
2 m3 0.360 1.000
4808 |o0-smeer| TERBAKRE(EEER) 1000.0 | 4111 Foy Na N
1 2500m25k amblE~60cmLT. HEH RS (2 R ) m2 0.320
4809 |oro-smeer| TERBAKRECEEER) 1000.0 | 4111 FHRLIAK
1 |2500m254 £5000m 24T et £~ 600mBLT, HHIANKA (2R E A ) m2 0.130
4810 H#8-5(3)| RIBMEKE - HE 100.0 =24 -6 -2 -2565 1000 REIINHY
5 FEEFDRMERIS PN AED EOREA(E) #m2 1.400 7.700 1.200 1.400| 31.000
4811 H#8-5(3)| RIBMEKE - HE 100.0 =24 -6 -2 -2565 1000 REIINHY
5 HERIS BEHAAMER (BEoxEEME) | Hm2 1.700 7.700 1.600 0.800[ 29.000
4812 H#8-5(3)| RIBMEKE - HE 100.0 =24 -6 -2 -2565 1000 REIINHY
5 BEEMNEIS PN AR (o) | Him2 1.400 5.600 2.500 0.800[ 30.000
4813 | oto-soaq| TEXBAKRECEEEE) 1000.0 | 4166 HFMLEAR
1 |s0om2skss, ghexssm (2R | m2 5.100
4814 | oro-smoaq| TEXBAKRECEEEE) 1000.0 | 4166 HFMLEKR
1 500251 +1000m25k . iR M H (23l m2 3.600
4815 | oto-soaq| TEXBAKRECEESE) 1000.0 | 4166 HFMLEAR
1 1000214 £ 4000m2 AT et A% 6t e (552 0 Bt ) m2 2.200
4817 | oto-sir)0 | \EHREEIKRE 1.0 4111 HFHEIK
1 2k 100m~300mEL T, HEHH AR (BRI km 0.730
4818 | oto0-sir2)0 | \EHREEIKRE 1.0 4111 HFHIK
1 2k 31om~60cmEL T, HEHHAAAIERE (ORI km 1.040
4819 | ot0-sir)0 | \EHREEIKRE 1.0 4111 HFHEIK
1 2kl E~BKmELR 100m~300mEL T, HEtk AR HR (FORHAE) km 0.200
4820 | oto-sir)0 | \EHREEIKRE 1.0 4111 HFHEIK
1 2kmBL E~BkmEL R 31om~60cmBL R, i AR SR (P2 RE 4 fE) km 0260
4822 | 38-10(6) |#skiRFZE L 656.0 =24 -6 -2 -4824 1000
5 BRI b R HE (BIRIER) Bl 2.0t m2 1.000 1.000 1.000 1.000 1.000
4823 | 3£8-10(6) |EasktriE=T 701.0 -24 -6 -2 -4824 1000
5 BRI b RN H R (BIRIER) Bl 2.0t m2 1.000 1.000 1.000 1.000 1.000
4824 | #8-10-(6)3)| /Ny KD (VO—FE) :BE iR B 1.0 13 99 2459 fBEERIE
3 LR ST RO 6r) [ H AR S (B3 JIA) 1. L-2 9t =] 1.000] 112.000 1.060
4825 | oro-seiro | [ RAREE L | W E - A 10.0 2741 2742 2
3 #i450%1500mm, 48, S{ii%ﬁ~ #A3m, PP%&E&ME I 10000 10000 0300
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4836 (B&{RR&{ET)
4837 011-1|RFIZHL 1000.0 2 4082
2 T YLK TR, AR (551 RIS m3 1.400 3.400
4838 011-2 | EEIE (3EH#E) 1.0 4082
1 T YLK T, AR (551 RIS km 1.020
4840 011-3|BRE(RIF) 1.0 2 4100
2 HHAX km 0.040 0.200
4841 011-3|BRECEE) 1.0 2 4100
2 HHH km 0.050 0.290
4842 011-3|BRE(RR) 1.0 2 4100
2 BHER km 0.070 0.400
4844 | O11-4(4)|AIB=RE »-wELT 100.0 2 4030
2 10 45m3MR (R A— L BD). B PRSI (351 LA ) m 0.160 0.680
4845 | 011-4(4)[EIEEMH MEL MEL 100.0 2 4030
2 10 45m3MR (R A— L BD), B P AR (351 LA ) m 0.160 0.730
4856 RENEE)
4857 | o10-stfm2(1)| 2 EELE 34om £ (N#) 5.3 4956
1 10m3/ha E#{3H0.2m3iz m3 1.000
4858 | o010-stfR2(1)| 2 EELE 34om £ (N#) 5.4 4956
1 20m3/ha E#1380.2m352 m3 1.000
4859 | o010-stfm2(1)| 2 EEL A 34om £ (N#) 55 4956
1 30m3/ha E#13E0.2m352 m3 1.000
4860 | o010-sttm2(1)| 2EELE 34om £ (N#) 5.6 4956
1 40m3/ha E#§E0.2m332 m3 1.000
4861 | o10-sttm2(1)| 2 EELE 34om £ (N#) 5.8 4956
1 50m3/ha E#13E0.2m352 m3 1.000
4862 | o010-stfm2(1)| 2EELE 34om £ (N#) 6.6 4956
1 100m3/ha E#3E0.2m3iz m3 1.000
4863 | o010-sttm2(1)| 2 EELE 34om £ (N#F) 7.3 4956
1 150m3/ha E#13m0.2m3iz m3 1.000
4864 | o10-sttm2(1)| 2EELE 34om £ (N#) 8.1 4956
1 200m3/ha E#5E0.2m332 m3 1.000
4865 | 010-stfx2(1)| 2 EELE 34om £ (N#F) 8.9 4956
1 250m3/ha E#1E0.2m332 m3 1.000
4866 | 010-2ttR2(1)| 2EELE 34om £ (N#) 9.8 4956
1 250m3/haitB E#1§00.2m332 m3 1.000
4868 | 010-sttR2(1)| 2 ELLE 34om £ (N#) 8.1 4956
1 10m3/ha E#3H0.4m3ie m3 1.000
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4869 | o10-str2(1)| & F A 34om L (N#) 8.3 4956

1 20m3/ha E#FE0.4m352 m3 1.000
4870 | o10-str2(1)| & #f8 34om L (N#) 8.4 4956

1 30m3/ha E#FE0.4m352 m3 1.000
4871 | o10-str2(1) | & # 4 f8 34om £ (N#) 8.6 4956

1 40m3/ha E#§00.4m33z m3 1.000
4872 | o10-str2(1) | & #f8 34om £ (N#) 8.8 4956

1 50m3/ha E#FE0.4m352 m3 1.000
4873 | o10-str2(1) | & # 8 34om L (N#) 9.9 4956

1 100m3/ha ﬁﬁ@OAmS@ m3 1.000
4874 | o10-str2(1) | & #fE 34om L (N#) 10.8 4956

1 150m3/ha E#1300.4m352 m3 1.000
4875 | o10-str2(1)| & # 8 34om L (N#) 11.9 4956

1 200m3/ha E#3E0.4m31Z m3 1.000
4876 | o10-stfr2(1)| & # 8 34om £ (N#) 13.0 4956

1 250m3/ha E#3E0.4m31Z m3 1.000
4877 | o10-str2(1) | £ # 8 34om £ (N#) 141 4956

1 250m3/haitB E#5E0.4m35Z m3 1.000
4879 | o10-str2(1) | & # 8 34om L (N#) 10.4 4956

1 10m3/ha ’ﬁﬁ@o.Gmfﬁz m3 1.000
4880 | o10-str2(1)| & # 8 34om L (N#) 10.6 4956

1 20m3/ha E#FE0.6m352 m3 1.000
4881 | o10-stfr2(1) | & #f8 34om £ (N#) 10.8 4956

1 30m3/ha E#FE0.6m352 m3 1.000
4882 | o10-str2(1) | & # 8 34om L (N#) 11.0 4956

1 40m3/ha E#1§00.6m33z m3 1.000
4883 | 010-str2(1) | & # 8 34om L (N#) 1.3 4956

1 50m3/ha E#FE0.6m352 m3 1.000
4884 | o10-stfr2(1) | & # 8 34om L (N#) 125 4956

1 100m3/ha ﬁﬁ@o.fﬁm\?i@ m3 1.000
4885 | 010-str2(1) | £ # 8 34om L (N#) 13.6 4956

1 150m3/ha E#1300.6m3;52 m3 1.000
4886 | 010-stfr2(1)| & # A 34om L (N#) 149 4956

1 200m3/ha E#3E0.6m31Z m3 1.000
4887 | o10-str2(1) | & # 8 34om £ (N#) 16.2 4956

1 250m3/ha E#3E0.6m31Z m3 1.000
4888 | 010-str2(1)| & # 8 34om L (N#) 175 4956

1 250m3/haitB E#5E0.6m33Z m3 1.000
4890 | o10-str2(1)| & # 8 34om L (N#) 12.3 4956

1 10m3/ha ’ﬁﬁ@o.mefﬂi@ m3 1.000
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4891 | o10-str2(1) | & # 8 34om £ (N#) 12.6 4956

1 20m3/ha E#FE0.8m352 m3 1.000
4892 | o10-str2(1)| & # 8 34om L (N#) 12.9 4956

1 30m3/ha E#FE0.8m352 m3 1.000
4893 | o10-str2(1) | £ # 8 34om L (N#) 13.2 4956

1 40m3/ha E#1§80.8m33z m3 1.000
4894 | o10-str2(1) | & # 8 34om £ (N#) 13.4 4956

1 50m3/ha E#FE0.8m352 m3 1.000
4895 | o10-str2(1) | & # 8 34om L (N#) 148 4956

1 100m3/ha ﬁﬁ@OBmS@ m3 1.000
4896 | 010-str2(1)| & F 8 34om L (N#) 16.1 4956

1 150m3/ha E#1300.8m3;52 m3 1.000
4897 | o10-str2(1)| & # 8 34om L (N#) 175 4956

1 200m3/ha E#3E0.8m31Z m3 1.000
4898 | o10-str2(1) | & # 8 34om L (N#) 18.9 4956

1 250m3/ha E#3E0.8m31Z m3 1.000
4899 | o10-str2(1)| & # 8 34om L (N#) 20.4 4956

1 250m3/haitB E#5E0.8m35Z m3 1.000
4901 | o10-str2(1) | & #4 8 34om L (LA 8.6 4956

1 10m3/ha ’ﬁﬁ@o.meﬁz m3 1.000
4902 | o10-str2(1)| & # 4 34om L (LA 8.8 4956

1 20m3/ha E#FE0.2m352 m3 1.000
4903 | o10-str2(1) | & # £ 34om L (LA 8.9 4956

1 30m3/ha E#FE0.2m352 m3 1.000
4904 | o10-str2(1)| & F 4 34om (LA 9.1 4956

1 40m3/ha E#1§00.2m332 m3 1.000
4905 | o10-str2(1)| & # £ 34om L (LA 9.3 4956

1 50m3/ha E#FE0.2m352 m3 1.000
4906 | o10-str2(1)| & FE A 34om L (LA 10.6 4956

1 100m3/ha ﬁﬁ@O.QmS@ m3 1.000
4907 | o10-str2(1)| & # 4B 34om L (LA 1.7 4956

1 150m3/ha E#1300.2m3;52 m3 1.000
4908 | o10-str2(1)| & # A 34om L (LA 13.0 4956

1 200m3/ha E#3E0.2m31Z m3 1.000
4909 | o10-str2(1)| & #E A 34om L (LA 143 4956

1 250m3/ha E#3E0.2m31Z m3 1.000
4910 | o10-str2(1)| & # 48 34cm L (LA 15.7 4956

1 250m3/haitB E#5E0.2m35Z m3 1.000
4912 | o10-str2(1) | & # £ 8 34om L (LA 12.3 4956

1 10m3/ha ’éﬁ}@OAmfﬂi@ m3 1.000
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4913 | o10-str2(1) | & # £ 8 34om L (LA 12.6 4956

1 20m3/ha E#FE0.4m352 m3 1.000
4914 | o10-str2(1) | & # £ 8 34om (LA 12.8 4956

1 30m3/ha E#FE0.4m352 m3 1.000
4915 | o10-str2(1) | & # £ 8 34om L (LA 131 4956

1 40m3/ha E#§00.4m33z m3 1.000
4916 | o10-str2(1)| & # £ 8 34om L (LA 13.4 4956

1 50m3/ha E#FE0.4m352 m3 1.000
4917 | o10-str2(1) | & # £ 8 34om L (LA 15.0 4956

1 100m3/ha ﬁﬁ@OAmS@ m3 1.000
4918 | o10-str2(1) | & #4 8 34om L (LA 16.4 4956

1 150m3/ha E#1300.4m352 m3 1.000
4919 | o10-str2(1) | & # £ 8 34om L (L#) 18.1 4956

1 200m3/ha E#3E0.4m31Z m3 1.000
4920 |o10-str2(1)| & FE A 34om (LA 19.7 4956

1 250m3/ha E#3E0.4m31Z m3 1.000
4921 | o10-str2(1) | & #4 B 34om L (LA 215 4956

1 250m3/haitB E#5E0.4m35Z m3 1.000
4923 | o10-str2(1) | & F 4 34om L (LA 15.2 4956

1 10m3/ha ’ﬁﬁ@o.Gmfﬁz m3 1.000
4924 | o10-str2(1) | & F £ A 34om (LA 15.6 4956

1 20m3/ha E#FE0.6m352 m3 1.000
4925 | o10-str2(1)| & # 4 34om L (LA 15.9 4956

1 30m3/ha E#FE0.6m352 m3 1.000
4926 | o10-str2(1)| & # A 34om (LA 16.2 4956

1 40m3/ha E#1§00.6m33z m3 1.000
4927 | o10-str2(1) | & #E A 34om L (LA 16.6 4956

1 50m3/ha E#FE0.6m352 m3 1.000
4928 | o10-str2(1)| & FE A 34om L (LA 18.4 4956

1 100m3/ha ﬁﬁ@o.fﬁm\?i@ m3 1.000
4929 | o10-str2(1)| & F A 34om (LA 20.0 4956

1 150m3/ha E#1300.6m3;52 m3 1.000
4930 | o10-str2(1)| & # A 34om (LA 21.9 4956

1 200m3/ha E#3E0.6m31Z m3 1.000
4931 | o10-str2(1) | & # 4 8 34em L (LA 23.8 4956

1 250m3/ha E#3E0.6m31Z m3 1.000
4932 | o10-str2(1) | & # A 34om L (LA 25.8 4956

1 250m3/haitB E#5E0.6m33Z m3 1.000
4934 | o10-str2(1) | & FEAE 34om (LA 17.7 4956

1 10m3/ha ’ﬁﬁ@o.mefﬂi@ m3 1.000
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4935 | o10-str2(1)| & #E A 34om L (LA 18.1 4956
1 20m3/ha E#FE0.8m352 m3 1.000

4936 | o10-str2(1)| & FE A 34om (LA 18.5 4956
1 30m3/ha E#FE0.8m352 m3 1.000

4937 | o10-str2(1) | & # £ 34om L (LA 18.9 4956
1 40m3/ha E#1§80.8m33z m3 1.000

4938 | o10-str2(1)| & FE A 34om L (LA 19.3 4956
1 50m3/ha E#FE0.8m352 m3 1.000

4939 | o10-str2(1) | & # £ 34om L (LA 21.2 4956
1 100m3/ha ﬁﬁ@OBmS@ m3 1.000

4940 | o10-str2(1)| & F 4 34om L (LA 23.1 4956
1 150m3/ha E#1300.8m3;52 m3 1.000

4941 | o10-str2(1) | & #4 B 34om L (LA 25.1 4956
1 200m3/ha E#3E0.8m31Z m3 1.000

4942 | o10-str2(1) | & F £ 34om L (LA 271 4956
1 250m3/ha E#3E0.8m31Z m3 1.000

4943 | o10-str2(1) | & F A 34om (LA 29.3 4956
1 250m3/haitB E#5E0.8m35Z m3 1.000

4945 | 010-#MR2(1)| A BFE HMLATERNY4-6~10tH% 185 4098 2955 MIBRTE
2 NL A F# ﬁﬁ@UO.meﬂi@ m3 1.000| 18.500

4946 |o010-#MR2(1)|ABFE ML ATERNY4-6~10tH% 22.7 4098 2955 MIBRTE
2 NLAF, E#FEY0.4m352 m3 1.000f 22.700

4947 |o10-#MR201)| A EFE HRMLATERNY4-6~10tH% 25.6 4098 2955 MIBRTE
2 NLAF, E#FEY0.6m33Z m3 1.000| 25.600

4948 |o010-#MR2(1)|ABFE ML ATERNY5-6~10tH% 27.8 4098 2955 MIBRTE
2 NLAF, E#FEY0.8m35Z m3 1.000f 27.800

4949 |o10-#MR201)|ABFE ML ATERNY4-6~10ti% 29.7 4098 2955 MIBRTE
2 NLAF, E#FEY1.0m352 m3 1.000f 29.700

4950 |[o10-#fR2(1)|AEFE HMLATERNY4-6~10tH% 314 4098 2955 MIBRTE
2 NL A F# ﬁﬁ@bﬂ .2m35§ m3 1.000| 31.400

4951 |o10-#MR2(1)| A BHE HMLATERNY4-6~10tH% 329 4098 2955 MIBRTE
2 NLAF, E#FEY1.4m352 m3 1.000f 32.900

4952 |o010-#MR2(1)| A BFE ML ATERNY4-6~10tik 34.2 4098 2955 MIBRTE
2 NLAF, E#FEY1.6m35Z m3 1.000| 34.200

4953 |o010-#MR2(1)| A BHE ML ATERNY4-6~10tHk 35.4 4098 2955 MIBRTE
2 NLAF, E#FEY1.8m33Z m3 1.000| 35.400

4954 |o10-#MR2(1)| A BHE HRMLATERNY5-6~10tH% 36.5 4098 2955 MIBRTE
2 NLAF, E#FEY2.0m352 m3 1.000| 36.500

4956 REBIEEXE 1.0 2957 -2611 1000 2601
4 F—iA =] 1.000 5.000] 48.000 1.000
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4958 AARSEHIYINTE 1.0 2633
1 RO 13emKi m3 68.900
4959 AARSEHIYINTE 1.0 2634
1 REOZE13cmElE20omkKiH m3 39.200
4960 AXKEHIMTE 1.0 2633
1 RO 13emEi m3 68.900
4961 AXKEHIMTE 1.0 2634
1 REOZ13cmElE20omkK i m3 39.200
4963 | xivusesmon| AR (A 100.0 -1 -2 1000
3 SEE B 1 Oom K i A 0.230] 0.230{ 6.000
4964 | xirusesmon| AR (A 100.0 -1 -2 1000
3 SEHEE 1 0cm B E 1 6emk i X 0.320] 0.320f 6.000
4965 | xirusesmon| AR (R A 100.0 -1 -2 1000
3 SEHEE 1 6cm L E22emk & 0.420] 0.420f 6.000
4966 | xiousesmon| AR (A 100.0 -1 -2 1000
3 SEHMIEE £ 22cm B 28em ki X 0.5620] 0.520f 6.000
4967 | xirusesmon| AR (A 100.0 -1 -2 1000
3 EMEEE28mil b x 0.630] 0.630f 6.000
4969 | xirusesmon| AR (FKHA) 100.0 -1 -2 1000
3 SEE B 1 Oom K i A 0.210] 0.210{ 8.000
4970 | xicusesmon| AR (BLHA) 100.0 -1 -2 1000
3 SEHEE 1 0cm A E 1 6emk i & 0.240] 0.240{ 8.000
4971 | srrwsesmon| R AR (BLHA) 100.0 -1 -2 1000
3 BB E 1 6cm L E22emk & 0.280] 0.280f 8.000
4972 | xirusesmon| AR (KLHA) 100.0 -1 -2 1000
3 SEHMIEE 22cm LA 28em ki & 0.310] 0.310f 8.000
4973 | xirusesmon| AR (BKHA) 100.0 -1 -2 1000
3 EMEEE28mil b x 0.350] 0.350f 8.000
4975 | xivusesmos| RN (FA) 100.0 -2 1000
2 SEE B 1 Oom K i X 0.300 1.000
4976 | xivusesmos| AL () 100.0 -2 1000
2 SEHEE 1 0cm b E 1 6emk i x 0.390 1.000
4977 | wrvusesmos| R ARLIE () 100.0 -2 1000
2 SEHEE 1 6cm L E22emk x 0510 1.000
4978 | xivusesmos| R ARLIE () 100.0 -2 1000
2 SEHMEE 22cm B 28em ki x 0.620 1.000
4979 | xivusesmos| R ARLIE () 100.0 -2 1000
2 EMEEE28mil b x 0.710 1.000
4981 [(REAEEM A T]
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4982 | #4-3-172)| BRI AVT— RGBSR IR & 1.0 2387
1 B - E—42EXE) 0.8~1.2m3/h iSaE] 1.000
4983 | #4-3-172)| 2K EMHEEE R E (EEEM KA T) 1.0 99 2503 4. (BHNEHEEEEE)
2 B AR ER AR T 10.6~11.0m3/min =] 81.000 1.710
4984 | #4-3-1702) | REIR BH-EES (FEEEM KRN ) 1.0 99 2534 4. (BHNEHEEEEE)
2 BEHA AR E R T4 —BIL T O BRE)45K VA =] 36.000 1.710
4985 | #4-3-17)1) | REEE M AT T (M EBIR) 100.0 -24 -5 -1 -2 -4982 | -4983 | -4984 1000
8 [E&3cm~6BemEK i m2 1.600 5.100 0.900 3.000 4.600 0.700 1.300| 26.000
4986 05-12 | ERBEMMEE(TYRIAIL) 100.0 1256 1263 1262 1088 2614 1104
6 JEX3cm m2 0.100 0.400 0.400 4.680| 15.000f 15.000
4987 05-12 | ERBEMMEE(TYRIAIL) 100.0 1256 1263 1262 1088 2614 1104
6 E5cm m2 0.100 0.400 0.400 7.800| 25.000| 25.000
4988 | sta-a-1.05-12| ERBEMWA T (MEESE) 1.0 4985 4986 BE
2 E&3em(TyRYAIL) m2 1.000 1.300
4989 | sa-a-1. 05-12| ERBEMWA T (MEESE) 1.0 4985 4987 BE
2 E&5em(7yRYAIL) m2 1.000 1.300
5000 | 05-1(9) |G — A THEITEAH 1.0 2627
1 ERIFE30% m3 0.300
5003 | 05-1(9)|AIS—AT7—FXZET 10.0 -5000 2 1000
3 $2000mm X R1500mm m 1.508 3.300] 10.000
5004 | 05-19)|AIS— AT7—FXET 10.0 -5000 2 1000
3 $2300mmxR1650mm m 1.568 3.900| 10.000
5005 | 05-1(9)|AIS— AT7—FXET 10.0 -5000 2 1000
3 $2700mm xR1800mm m 1.649 4.500| 10.000
5006 | 05-1(9)|AIS— AT7—FXET 10.0 -5000 2 1000
3 $3000mm xR1950mm m 1.710 4.900| 10.000
5007 | 05-19) | — AT7—FET 10.0 -5000 2 1000
3 $3700mm xR2250mm m 1.852 6.000| 10.000
5008 | 05-1(9)|AIA— AT7—FXET 10.0 -5000 2 1000
3 S4400mm X R2600mm m 1.994 7.100] 10.000
5009 | 05-19)|AT—AT7—FXET 10.0 -5000 2 1000
3 S5100mm X R2900mm m 2.136 8.400| 10.000
5010 | 05-19)|AS— AT7—FXET 10.0 -5000 2 1000
3 $5800mm X R3200mm m 2.277 9.600| 10.000
5012 |05-1(9)9(»)| LA —hEAE % 10.0 2852 2 TUh—EVRIRET £
2 ¢ 600mm t=1.6mm(F>H—E> JlsREt £) m 10.000 1.600
5013 | 05-1(9)9(»)| LAY —hEAE % 10.0 2853 2 TUh—EVRIRET £
2 ¢ 800mm t=1.6mm(F>Hh—E> JlsR5t £) m 10.000 2.5600
5014 |05-1(9)(»)| LAY —hEAEHH 10.0 2854 2 TUh—EVRISRET £
2 6 1000mm t=2.0mm (7> H—EVBIRE L) m 10.000 2.800
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5015 | 05-1(9)9(»)| Ly —hEAEHE 10.0 2855 2 TUh—EVRIRET £

2 ¢ 1200mm t=2.0mm (7> h—E BlE ) m 10.000 2.800
5016 | 05-1(9)%(»)| LA —hEAEHE 10.0 2856 2 TUh—EVRIRET £

2 ¢ 1350mm t=2.7mm (7> h—E RlE ) m 10.000 3.400
5017 | 05-1(9)(»)| LA —hEAEHE 10.0 2857 2 TUh—EVRIRET £

2 ¢ 1500mm t=2.7mm (7> h—E RlgE ) m 10.000 3.700
5018 | 05-1(Q)9N| TV H—EVEHE 10.0 2859 2 KE=L+1.02%x242

2 @ 13mm L=1000mm X 10.000 0.300
5020 VG =N TT7—F IR 10.0 2 IEEEHRETERDRESH

1 $2000mm R1500mm t=2.7mm (& Bl2) m 22.500 NyEVTEST MREILRE E
5021 VG =N TT7—F IR 10.0 2 IEEEHRETERD RESH

1 $2000mm R1500mm t=3.2mm (& # Bl) m 22.500 NYRVTEED MBI E
5022 VG =N TT7—F IR 10.0 2 IEEEHRETERDRESH

1 $2000mm R1500mm t=4.0mm (& # Blz) m 27.500 NYRVTEED MBI E
5023 VG =N TT7—F IR 10.0 2 IEEHEHRETERDRESH

1 $2000mm R1500mm t=4.5mm(&# Bl) m 27.500 NYRVTEED MBEEFRIRET E
5024 W= T 7 —F AR 10.0 2 5087 TEEHFMREERORESH

2 $2000mm R1500mm t=5.3mm (& # Blz2) m 27.500( 7.800 NYRVTEEL MBEEFRIRET E
5025 W= T T —F AR 10.0 2 5087 TEEHFMEERORESH

2 $2000mm R1500mm t=6.0mm (&1 3l2) m 31.200] 9.000 NyEVTEST MREILRE E
5026 W= TT7—F AR 10.0 2 5087 TEEHZAEERORESH

2 $2000mm R1500mm t=7.0mm(&# Blz2) m 34.600[ 10.500 NYRVTEEL MBEEIFRIRET E
5028 VG =N TT7—F IR 10.0 2 IEEEHRETERDRESH

1 $2300mm R1650mm t=2.7mm(&# Bl) m 27.000 NYRVTEED MBI E
5029 VG =N TT7—F IR 10.0 2 IEEEHETERDRESH

1 $2300mm R1650mm t=3.2mm (& # Bl) m 27.000 NYRVTEED MEEFRIRET E
5030 VG =N TT7—F IR 10.0 2 IEEEHRETERDRESH

1 $2300mm R1650mm t=4.0mm(&# Bl) m 33.000 NYRVTEED MBI E
5031 VG =N TT7—F IR 10.0 2 IEEEHRETERDRESH

1 $2300mm R1650mm t=4.5mm (& Bl2) m 33.000 NyEVTEST MEREILRE E
5032 W= T 7 —F AR 10.0 2 5087 TEEHFMEERORESH

2 $2300mm R1650mm t=5.3mm (& # Bl) m 33.000f 9.500 NYRVTEEL MBEEIFRIRET E
5033 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $2300mm R1650mm t=6.0mm (& # Bl) m 37.900( 11.000 NYRVTEEL MBEEIFRIRET E
5034 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $2300mm R1650mm t=7.0mm(&# Bl) m 42100 12.900 NYRVTEEL MBEEFRIRET E
5036 LG =N TT7—F IR 10.0 2 IEEEHRETERD RESH

1 $2700mm R1800mm t=2.7mm (& # Bl) m 32.200 NYRVTEED MBEEFRIRET E
5037 VG =N TT7—F A 10.0 2 IEEEHETERD RESH

1 $2700mm R1800mm t=3.2mm (&1 Bl2) m 32.200 NyEVTEST MEEILRE E

40




=
H #H — E

S a2-FNo 4 Fx 1ERK TR EMES - FERESE GERENZBEEICEEMESCI-1%M43) s ”
No. EE# #H % =X (v 1 2 & 4 5 6 7 8 9 10
5038 W= T T —F AR 10.0 2 5087 TEEHFAEERORESH

2 $2700mm R1800mm t=4.0mm(&# Bl2) m 28.800| 8.800 NYRVTEEL MBEEIFRIRET E
5039 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $2700mm R1800mm t=4.5mm(&# Blz2) m 28.800 8.800 NYRVTEEL MBEEIFRIRET E
5040 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $2700mm R1800mm t=5.3mm (& # Bl2) m 35.600[ 12.600 NYRVTEEL MBEEFRIRET E
5041 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $2700mm R1800mm t=6.0mm (& # Blz2) m 40.900| 14.600 NYRVTEEL MBEEIFRIRET E
5042 W= TT7—F AR 10.0 2 5087 TEEHFMREERORESH

2 $2700mm R1800mm t=7.0mm (& Bl2) m 44.200] 16.100 NyEVTEST MREILRE E
5044 AN —hIA T 7 —F AR 10.0 2 IEEEHRETERD RESH

1 $3000mm R1950mm t=2.7mm (& # Blz2) m 33.100 NYRVTEED MBI E
5045 A=A TT7—F R 10.0 2 IEEEHRETERDRESH

1 $3000mm R1950mm t=3.2mm (& # Bl) m 33.100 NYRVTEED MBI E
5046 W= T T —F AR 10.0 2 5087 TEEHFMEERORESH

2 $3000mm R1950mm t=4.0mm (& # Blz2) m 29.500( 9.100 NYRVTEEL MBEEIFRIRET E
5047 W= T 7 —F AR 10.0 2 5087 TEEHFMREERORESH

2 $3000mm R1950mm t=4.5mm(&# Bl) m 29.500 9.100 NYRVTEEL MBEEFRIRET E
5048 W= T T —F AR 10.0 2 5087 TEEHFMEERORESH

2 $3000mm R1950mm t=5.3mm (&1 Bl2) m 36.600| 13.000 NyEVTEST MREILRE E
5049 W= TT7—F AR 10.0 2 5087 TEEHZAEERORESH

2 $3000mm R1950mm t=6.0mm (& # Blz2) m 41.700| 15.000 NYRVTEEL MBEEIFRIRET E
5050 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $3000mm R1950mm t=7.0mm (& # Bl) m 45.100| 16.400 NYRVTEEL MBEEFRIRET E
5052 AN —h AT 7 —F AR 10.0 2 IEEEHETERDRESH

1 $3700mm R2250mm t=2.7mm (& # Blz2) m 39.200 NYRVTEED MEEFRIRET E
5053 AN —hIA T 7 —F AR 10.0 2 IEEEHRETERDRESH

1 $3700mm R2250mm t=3.2mm (& # Blz) m 39.200 NYRVTEED MBI E
5054 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $3700mm R2250mm t=4.0mm (& Bl2) m 34.900] 10.900 NyEVTEST MEREILRE E
5055 W= T 7 —F AR 10.0 2 5087 TEEHFMEERORESH

2 $3700mm R2250mm t=4.5mm(&# Bl) m 34.900( 10.900 NYRVTEEL MBEEIFRIRET E
5056 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $3700mm R2250mm t=5.3mm (& # Blz) m 43.400| 15.600 NYRVTEEL MBEEIFRIRET E
5057 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $3700mm R2250mm t=6.0mm (& # Blz2) m 49500 17.900 NYRVTEEL MBEEFRIRET E
5058 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $3700mm R2250mm t=7.0mm(&# Bl) m 53.600[ 19.700 NYRVTEEL MBEEIFRIRET E
5060 W= TT7—F AR 10.0 2 5087 TEEHFMEERORESH

2 $4400mm R2600mm t=2.7mm (& Bl2) m 35.000] 10.400 NyEVTEST MEREILIRE E
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5061 W= T T —F AR 10.0 2 5087 TEEHFAEERORESH

2 $4400mm R2600mm t=3.2mm (& # Bl) m 35.000[ 10.400 NYRVTEEL MBEEIFRIRET E
5062 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $4400mm R2600mm t=4.0mm (& # Bl) m 40.500| 15.600 NYRVTEEL MBEEIFRIRET E
5063 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $4400mm R2600mm t=4.5mm (& # Bl) m 40.500| 15.600 NYRVTEEL MBEEFRIRET E
5064 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $4400mm R2600mm t=5.3mm (& # Blz) m 47.500| 20.800 NYRVTEEL MBEEIFRIRET E
5065 W= TT7—F AR 10.0 2 5087 TEEHFMREERORESH

2 $4400mm R2600mm t=6.0mm (&1 3l2) m 54.200| 23.900 NyEVTEST MREILRE E
5066 W= T T —F AR 10.0 2 5087 TEEHFAEERORESH

2 $4400mm R2600mm t=7.0mm (& # Bl) m 60.100| 25.400 NYRVTEEL MBEEIFRIRET E
5068 W= T 7 —F AR 10.0 2 5087 TEEHFMREERORESH

2 $5100mm R2900mm t=2.7mm (& # Bl2) m 36.300[ 10.800 NYRVTEEL MEEIFRIRET E
5069 W= T T —F AR 10.0 2 5087 TEEHFMEERORESH

2 $5100mm R2900mm t=3.2mm (& Bl%) m 36.300| 10.800 NyFTEEL MHEERRETE
5070 W= T 7 —F AR 10.0 2 5087 TEEHFMREERORESH

2 $5100mm R2900mm t=4.0mm (& # Blz2) m 42.000| 16.200 NYRVTEEL MBEEFRIRET E
5071 W= T T —F AR 10.0 2 5087 TEEHFMEERORESH

2 $5100mm R2900mm t=4.5mm (&1 Bl2) m 42.000| 16.200 NyEVTEST MREILRE E
5072 W= TT7—F AR 10.0 2 5087 TEEHZAEERORESH

2 $5100mm R2900mm t=5.3mm (& # Blz2) m 49.300| 21.600 NYRVTEEL MBEEIFRIRET E
5073 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $5100mm R2900mm t=6.0mm (& # Blz2) m 55.800| 24.600 NYRVTEEL MBEEFRIRET E
5074 W= TT7—F AR 10.0 2 5087 TEEHFMEERORESH

2 $5100mm R2900mm t=7.0mm (& # Bl2) m 61.800| 26.200 NYRVTEEL MBEBEIFRIRET E
5076 W= T T —F AR 10.0 2 5087 TEEHFMEERORESH

2 $5800mm R3200mm t=2.7mm (& # Bl) m 41.000{ 12.300 NYRVTEEL MEEIFRIRET E
5077 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $5800mm R3200mm t=3.2mm (&1 Bl2) m 41.000] 12.300 NyEVTEST MEREILRE E
5078 W= T 7 —F AR 10.0 2 5087 TEEHFMEERORESH

2 $5800mm R3200mm t=4.0mm (& # Bl) m 47.400| 18.500 NYRVTEEL MBEEIFRIRET E
5079 W= TT7—F AR 10.0 2 5087 TEEHFAEERORESH

2 $5800mm R3200mm t=4.5mm(&# Bl) m 47.400| 18.500 NYRVTEEL MBEEIFRIRET E
5080 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $5800mm R3200mm t=5.3mm (& # Blz2) m 55.700| 24.600 NYRVTEEL MBEEFRIRET E
5081 W= T 7 —F AR 10.0 2 5087 TEEHFAEERORESH

2 $5800mm R3200mm t=6.0mm (&4 Bl5%) m 63.200| 28.100 NyFTEEL MHEERRETE
5082 W= TT7—F AR 10.0 2 5087 TEEHFMEERORESH

2 $5800mm R3200mm t=7.0mm (& Bl%) m 70.000] 29.800 NyEVTEST MEREILIRE E
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5084 B DM THL - B (1008) 10.0 2 4166 IEmERMEERORELSH
2 B =0.5m X 1§1.0m(557H4.75m3/10m3l%) m 0.810 0.230
5085 & P TH - B (120%) 10.0 2 4166 EEZEREERBO RESH
2 B=0.5m X 1§@1.2m(56755.70m3/10m3l5%) m 0.970 0.280
5087 cowooL — B R E 1.0 13 99 2228 T=620/100=6.2 1/T=1/6.2=0.16 A
3 [AEMESTR 49tH B RS 0.160|  4.800] 1.000 107kWx 0.0450/kW/h=4.81=4.80
5089 | 05-1(9)7 |ans—~/ s FiEM ¢ 600mm t=1.6mm 10.0 707 2
2 5 5Y0.6~9.0m m 10.000 2.600
5090 | 05-1(9)7 |ans—r A7 ¢ 600mm t=2.0mm 10.0 708 2
2 TH5Y9.1~10.5m m 10.000 2.600
5091 05-1(9)7 |2y —b/ A 74t ¢ 600mm t=2.7mm 10.0 709 2
2 TH3Y10.6~15.0m m 10.000 2.600
5092 | 05-1(9)7 |ans—r A7 ¢ 600mm t=3.2mm 10.0 710 2
2 TH3RY15.1~18.0m m 10.000 2.600
5094 SDIAE AR #E4(1005) 10.0 2 4166
2 B &0.5m X 18 1.0m (35F4.75m3/10m3l#) m 0.810] 0.230 TEEGHEERORESH
5095 SDIAE MR- #B4(1208) 10.0 2 4166
2 #&0.5m X #81.2m (3575.70m3/10m3li#) m 0.970| 0.280 TEEGHEERORESH
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